Chapter 6 Applications of Derivatives

EXERCISE 6.1

Question 1:
Find the rate of change of the area of a circle with respect to its radius # when

(@) r=3cm
(b) r=4cm

We know that the area of a circle, 4=n7’

Therefore, the rate of change of the area with respect to its radius is given by

dA _i 2
—=— (=)
=2r

(a) When r=3cm
Then,

Thus, the area is changing at the rate of 6r .

(b) When r=4cm

Then,
dA

e 21 (4)

=8&m
Thus, the area is changing at the rate of 8 .

Question 2:

The volume of a cube is increasing at the rate of 8cm’/s. How fast is the surface area
increasing when the length of its edge is 12¢m ?

Let the side length, volume and surface area respectively be equal to x, ¥ and S .
Hence, ¥ =x’ and S =6x"
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We have,
dav

—=8em’ [ s
dt
Therefore,
¥ _ 4
drdt
8=£(x?)ﬁ
dx dt
8 =3x’ @
dt
dx 8
o I
dr 3x’ ( )
Now,
i :i(éxE)
dt dt
= i(ﬁf )é
dx dt
= 12xﬁ
dt
= lzx[ e ] [ from (1) ]
3’
_32
So, when x=12¢em
Then,
as 32
—=—cm /s
dt 12
:§3m2 /s
3
Question 3:

The radius of a circle is increasing uniformly at the rate of 3¢m /s . Find the rate at which the
area of the circle is increasing when the radius is 10cm /s .

We know that 4 =z’
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Now,

dd d 5
Z = E(J‘I’r )
:2;'::‘@:
dt
We have,
£:3cmf's
dt
Hence,
dA
—=2rr(3
—-=2r(3)
=b6rr

So, when r =10cm

Then,

dA
—=6m (10
— =6r(10)

=60rem? /s

Question 4:
An edge of a variable cube is increasing at the rate of 3c¢m /s . How fast is the volume of the
cube increasing when the edge is 10¢m long?

Let the length and the volume of the cube respectively be x and V.
Hence, V =x’

Now,
v _d
dt _dt(t)
_d
_dx(x )d:
e
a dt
We have,
—x=3cmf's
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Hence,

dV y

-3¢ (3

7 = 3)
=0x?

So, when x =10cm

Then,

dVv
—=9(10
dt ( )

2

=900cm’> / s

Question 5:
A stone is dropped into a quiet lake and waves move in circles at the speed of Scm/s. At the
instant when the radius of the circular wave is 8cm , how fast is the encoding area is increasing?

We know that A =77’

Now,
44 _ 4 (7p2)
dt dt
= 2m’ﬁ
dt
We have,
LA Sem/ s
dt
Hence,
dA
—=2nr(5
—-=2r(5)
=10xr

So, when 7 =8cm

Then,

dA
— =107 (8
- =107(8)

=80mem?® [ s
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Question 6:
The radius of a circle is increasing at the rate of 0.7cm/s. What is the rate of increase of its
circumference?

We know that C =2nr

Now,
dC _d (r0y
dt dt
= i(Zn’r) e
dr dt
=2r ﬁ
dt
We have,
ﬁ =0.7zcm/ s
dt
Hence,
dc
—=2r(0.7
- =2(0.7)
=1ldmem/ s
Question 7:

The length x of a rectangle is decreasing at the rate of Scm/minute and the width ¥ is

increasing at the rate of 4cm/minute. When 8cm and ¥ =6cm | find the rate of change of (a)
the perimeter and (b) the area of the rectangle.

; dx -
— =—5¢m | minute =4cm /| minute

It is given that d , dt , x=8cm and y =6cm
(a) The perimeter of a rectangle is given by £ = 2(x+y)
Therefore,
a&_, (ﬁ 5 @]
dt dt dt
=2(-5+4)

=—2cm [ minute
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T o2,
dt dt dt

=2(-5+4)

=2em [ minute

(b) The area of a rectangle is given by 4 =xy

Therefore,

d4  dx dy

—_— ‘.._}) + X—

dt dt dt
=-5y+4x

dA  dx dy

—_— _}) + X—

dr dt dt
=-5y+4x

When x =8cm and ¥ =06cm
Then,
% = (—5>< 6+4x 8) cm’® | minute

=2em? | minute

Question 8:
A balloon, which always remains spherical on inflation, is being inflated by pumping in 900
cubic centimeters of gas per second. Find the rate at which the radius of the balloon increases

when the radius is 15¢m.

|4
We know that 3

Hence,
av _ ﬂ( 4 F;J
dt  dt\3
d (4 E j dr
= e— —jl'[ P
dr\ 3 dt
=47’ ar
dt
We have,
d—V =900cm” / s
dt

Therefore,
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dr

4nr° — =900
dt
dr 900
dt  4nr’
25
o

When radius, » =15c¢m

Then,
dr _ 225
dt z(15)
=lcmfs
T
Question 9:

A balloon, which always remains spherical has a variable radius. Find the rate at which its
volume is increasing with the radius when the latter is 10cm .

|4 Tr
We know that 3

Therefore,
dv d[4 3]
—=—|—7nr
dt  dr\3

B
=§R’(3?’“)

=4y’
When radius, » =10cm

Then,
dv 2
—=4x(10)
—-=4n(10)
=400

Thus, the volume of the balloon is increasing at the rate of 400mem’ /s .
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Question 10:

A ladder is 5m long is leaning against the wall. The bottom of the ladder is pulled along the
ground, away from the wall, at the rate of 2cm /s . How fast is its height on the wall decreasing
when the foot of the ladder is 4m away from the wall?

Let the height of the wall at which the ladder is touching it be »m and the distance of its foot
from the wall on the ground be xm .

Hence,
x° +‘y2 =52
=y’ =25-x
= y=+25-x"
Therefore,
f@’-:i( 25—x3)
dt dt
d (\/—a) dx
=—|(V25—-x" |—
dx dt
_ x &
(\fZS—xE) dt
We have,
£= 2em/s
dt
Thus,
@_ -2x
dt  \25-x°
When x =4cm
Then,
dy  -2x4
di  J25-16
= —§cm;’s
3
Question 11:

A particle is moving along the curve 6y = x’+2 Find the points on the curve at which the y-
coordinate is changing 8 times as fast as the x-coordinate.
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The equation of the curve is 6y =x"+2

Differentiating with respect to time, we have

= 6ﬁ =3x? id
dt dt
2@ — x? ﬁ
dt dt
According to the question, [d:
Hence,
= 2(8ﬁJ _ P
dt dt
= 16£ :xzﬁ
dt di
= (x*-1 6)ﬁ =0
dt
=x’ =16
= x=14
When x=4
Then,
42
* 6
_66
6
=11
When x =-4
Then,
(-4°)+2
7T
__62
6
__3
3

Thus, the points on the curve are (4.11) and [_ ’

& g

dx

dt

J

-3 |
3

_].
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Question 12:

. . . . —cmls . .
The radius of an air bubble is increasing at the rate of 2 . At which rate is the volume of

the bubble increasing when the radius is lem ?

V=—nr
Assuming that the air bubble is a sphere, 3 Er

Therefore,
dv _d (4 rj]a*r

—_— | -7 e
dt dt\3 dt
=47 2@
dt
We have,
dr 1
—=—cm/s
dt
When r =1cm
Then,
av 2 1
2 a4 (1) =
dt ( ) [2]
=2em’ | s
Question 13:

A balloon, which always remains spherical, has a variable diameter 2

change of its volume with respect to x.

4
V=—nx
We know that 3

L . d=2(2x41)
It is given that diameter, 2

r=3(2x+1)
Hence, 4

Therefore,

+1)

. Find the rate of
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l’zin(%f(2x+ﬂs

3

=%J’r(2x+l)3

Thus,
£=ini(2x+l)3
dv 16 dx
=2—7fr(2x+1)}
8
Question 14:

Sand is pouring from a pipe at the rate of 12¢m’ / s. The falling sand forms a cone on the ground
in such a way that the height of the cone is always one-sixth of the radius of the base. How fast

is the height of the sand cone increasing when height is 4cm ?

1,
V==nr'h
We know that 3

1

It is given that, 6

Hence, » =6h
Therefore,
V:%xmhfh
=12nh’
Thus,
5K=unﬁ{myﬁ
dt dt dt
:mxpkﬂ%?
N
dt
We have,
e =12em? / s

dt
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When A = 4cem

Then,

2 dh
12=367(4) —
m(4) —

@_ 12

dt 3671'(16)

=LC!‘HI’I5

134

Question 15:
The total cost € (%) in Rupees associated with the production of x units of an item is given by

C(x)=0.007x" - 0.003x +15x+4000  Find the marginal cost when 17 units are produced.

Marginal cost (MC) is the rate of change of the total cost with respect to the output.
Therefore,

MC = i—c =0.007(3x*)-0.003(2x)+15

X
=0.021x>=0.006x+15

When x=17
Then,

MC =0.021(17)° —0.006(17)+15
=0.021(289)—0.006(17)+15

=6.069-0.102+15
=20.967

So, when 17 units are produced, the marginal cost is X 20.967.

Question 16:
The total revenue in Rupees received from the sale of x units of a product given by

R(x)=13x"+26x+15 Find the marginal revenue when x=7.

Marginal revenue (MR) is the rate of change of the total revenue with respect to the number
of units sold.
Therefore,
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mr="R _ 13(2x)+26
dx

=26x+26
When, x=7
Then,
MR =26(7)+26
=182+26
=208

Thus, the marginal revenue is X 208.

Question 17:
The rate of change of the area of a circle with respect to its radius 7 at » = 6¢cm is
(A) 107 (B) 12 (C) 8 (D) 11z

We know that 4 = s’

Therefore,
o i(mﬁ )
dr dr
=2y
When r =6cm
Then,
A =2nx6
"
=12wem’ / s

Thus, the rate of change of the area of the circle is 12zem’ /5.

Hence, the correct option is B.

Question 18:
The total revenue is Rupees received from the sale of x units of a product is given by

R(x)=3x"+36x+5 Tpe marginal revenue, when x =15 is
(A) 116 (B) 96 (C) 90 (D) 126
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Marginal revenue (MR) is the rate of change of the total revenue with respect to the number
of units sold.

Therefore,
MR:d—R:3(2x)+36
dx
=6x+36
When, x=15
Then,
MR =6(15)+36
=90+36
=126

Thus, the marginal revenue is X 126.

Hence, the correct option is D.
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EXERCISE 6.2

Question 1:

Show that the function given by J/ (x)=3x+17 jg strictly increasing on R.

Let X and *: be any two numbers in R.
Then,

X <X, =3x5+17<3x, +17=f(x) < f(x,)

Thus, f is strictly increasing on R.

Question 2:

Show that the function given by / (x)=¢" i strictly increasing on R.

Let % and *2 be any two numbers in R.
Then,

X <X, = 2% <2x, AN 2 = f(x,)< f(x)

Thus, f is strictly increasing on R.

Question 3:

Show that the function given by J/ (x)=sinx jg

[°5)
(a) Strictly increasing in g

_J;T

T
(b) Strictly decreasing in [2 }

()  Neither increasing nor decreasing in ({],:rr)

It is given that J(x)=sinx

Hence, J'(x)=cosx

xXe [O,E]
(a) Here, 2.
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=cosx>0
:>f’(x)>0

T
g
Thus, f is strictly increasing in [ 2).

5]
xe|—,m
(b) Here, 2

= cosx <0

= f'(x)<0
—,T

T
Thus, / is strictly decreasing in (2 ]

(o Here, xe(0,7)
The results obtained in (a) and (b) are sufficient to state that / is neither increasing nor

decreasing in (0.7)

Question 4:

Find the intervals in which the function / given by / (¥)=2x"-3x g
(a) Strictly increasing (b) Strictly decreasing

The given function is / (¥)= 2x* =3x
Hence,
£'(x)=4x-3
Therefore,
f/'(x)=0
3
= X =—
4
- .

£ |us 1=

3
In (‘“”ZJ, f'(x)=4x-3<0

L]

3
_m —_—
Hence, / is strictly decreasing in [ 4) :
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3
w7 r9-ar-20

)
_’w
Hence, / is strictly increasing in (4 /.

Question 5:
Find the intervals in which the function / given /(%) =2x"—3x" =36x+7 jg
(a) Strictly increasing (b) Strictly decreasing

The given function is S(x)=2x"-3x*-36x+7

Hence,
f'(x)=6x>—6x—36
= 6(;\72 —x—6)
=6(x+2)(x-3)
Therefore,
f'(x)=0
=x=-2,3
—n i
- ; - -

|
B}
L

In (-0.-2) and (3:%)./"(x)>0
In (-2.3)./"(x)<0

Hence, / is strictly increasing in (_ws_z),(iw) and strictly decreasing in (-2.3).

Question 6:

Find the intervals in which the following functions are strictly increasing or decreasing.
(a) x* +2x-5 (b) 10— 6x—2x7

(c) —2x° —9x* —12x +1 (d) 6-9x-9x’

(e) (x+1)" (x=3)’

(a) f(r) =x'+2x-5
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(b)

(c)

Hence,

f(x)=2x+2
Therefore,

= f'(x)=0

=x=-—1

x=-1 divides the number line into intervals (_"Ds l) and (

In (—0.1), f(x)=2x+2<0

Thus, / is strictly decreasing in (

In (_laoo)».f"(x)=2x+2 >0

Thus, / is strictly increasing in (—1%)

_f(x)=10—6x—2x2

Hence,
S'(x)=-6—4x
Therefore,
= f'(x)=0
3
=S Xx=——
2
3
X =

3 )
—0,—— |, f'(x)=-6-4x<0
In ( Zj ()

S . : x
Hence, / is strictly increasing for

3 } ;
—=,0 |, f(x)=—6—-4x>0
In( 2 )

. . . . X
Hence, / is strictly increasing for

f(,x) =-2x"—9x* —12x +1

700,1)

2 , divides the number line into two intervals

2

2

—I,oo)
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(d)

(e)

Hence,
f'(x)=—6x*-18x-12

=—6(x"+3x+2)
=—6(x+1)(x+2)
Therefore,
= f’(x)z 0
= x=-12

x=-1 and x =-2 divide the number line into intervals (-, _2), (

In (—-2) and ("»"3), f'(x)=-6(x+1)(x+2)<0
Hence, / is strictly decreasing for x<-2 and x> -1

In (-2-1), /" (x)=—6(x+1)(x+2)>0
Hence, / is strictly increasing in —2 < x < -1
/(x) =6-9x—x*

Hence,
f(x)=-9-2x

Therefore,
= f'(x)=0
9

=S x=—=
2

cd i
In [_E’ch"f L

o ) x>
Hence, / is strictly decreasing for 2

9
o0, |, f(x)>0
In( 2] %)
. . .. X2
Hence, / is strictly decreasing in 2

f(x):(x+l)3(x—3)3

—2,—1

kl

) and (~1.%).
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Hence,

(x-3) +3(x=3)" (x+1)’
E(X 3) [x-3+x+1]
*(x-3)'(2x-2)
(x-3)"(x-1)

f'(x)=3(x+1)
=3(x+1)
=3(x+1)
=6(x+l)

Therefore,

f'(x)=

=x=-13,1
x=-L3,1 divides the number line into four intervals (—o0,=1),(=1,1),(1,3) and (3,0)

In (=0.=1) and (_Ll), j"(x)zﬁ(x+1)2(x—B]Z(x—1)<0

Hence, / is strictly decreasing in (=0.=1) and (-L1)

In (13) and (3,00)’ f’(x)z6(x+1)2(x—3)2(x—1)>0

Hence, / is strictly increasing in (1-3) and (3:%)

Question 7:
=log(1+x)-——,x>~1
Show that © B 24 X%, , 1s an increasing function of x throughout its domain.
=log(l -
It is given that y=log(1+x) 2+x
Therefore,
dy 1 m(2+x)(2)—2x(l)
dx l+x (2+x)2
L S
I+x (2+Jc)2
. —
(1+x)(2+x)2
dy

Now, dx
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Hence,

Since, *>—1,x=0 dijvides domain (=L.) in two intervals —1<x<0 and x>0

When, -1<x<0

Then,
x<0=x>>0
x>-1=(2+x)>0
=(24x) >0
Hence,
X2
y = — >O
g (2+x)
When, x>0
Then,
x>0=>x*>0
=(2+x)">0
Hence,
xﬁ
e — >0
! (2+x)

Thus, ./ is increasing throughout the domain.
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Question 8:

2
Find the values of x for which ¥ = [x (- 2)] is an increasing function.

We have,
y =[x(x—2)]2
=]7)C2 —2Jr—‘2
Therefore,
dy d 2
E = EI:XI —2.7(]
=2(x"-2x)(2x-2)
=4x(x-2)(x-1)
dy _
Now, dx -
Hence,

= 4x(x—2)(x-1)

= x=0x=2.x=1

x=0, x=1 and x=2 divide the number line intervals (—00,0),(0,1),(L,2) apgd (2.%)

é—f'K<O
In (-,0) and (1.2) , dx

Hence, ¥ is strictly decreasing in intervals (=.0) and (1.2)

iE“;-O
In (0.1) and (2300), dx

Hence, ¥ is strictly increasing in intervals (0.1) and (2.)

Question 9:

4sin0 T
Y= 2 0 B . . . . > A
Prove that (2+cos0) is an increment functionof @ in [ 2.
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e 4sinf
We have, (2+cos6)

Therefore,
dy (2 +cos€)(4cos€)*4sin9(—sin9)_1
do (2+cos(9)2
_ 8cosO +4cos’ O +4sin’ 0 i
(2+cos0)’
_ 8cosO+4 1
(2+cosB)’
L
Now, 46
Hence,
8cosb

S i A
(2+|1:0519)2

= 8c0s0 +4 =4+cos’ 0 +4cosh

= c0s’0 —4cosf =0

= cosO(cosO—4)=0

=cosf =0 or cosf =4

Since, cosf = 4

Therefore,
cosf =0

Now,
dy 8c059+4—(4+00329+40039)
%: (2+cosl9)2
4cosBO —cos’ 0
- (2+c056')2
_ cos(4—-cosf)
" (2+cos)



https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

T

In interval [ ’ 2} , we have cosf >0
Also,

4> cosO
=4—cos0 >0

Hence, c059(470039)>0 and also (2+cosf§')2 >0

Therefore,
cosf (4—0059)
(2+cosB )2
ﬁ >0
Hence, 40

T T

So, ¥ is strictly increasing in ( 2) and the given function is continuous at x=0 and 2

T
Thus, ¥ is increasing in interval [ ,2]

Question 10:

Prove that the logarithmic function is strictly increasing on (0,00)

The given function is / (¥)=logx

F9=1

Therefore, X

1
0,f'(x)=—>0
For, x>0, (x) X g

Thus, the logarithmic function is strictly increasing in interval (0,00)

Question 11:
Prove that the function / given by / (x)=x"—x+1 i5 neither strictly increasing nor strictly

decreasing on (-L1),
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The given function is f(x)=x"-x+1

Therefore,
S(x)=2x-1
Now,
f'(x)=0
1
= x=—
2

1 1
et )
2 divides the interval v into 2) and \2

1
=1, (x)=2x-1>0
In interval (2 j (x)

3
B
Hence, / is strictly decreasing in [ 2

]

1|, £ (x)=2x-1>0
In interval (_2 ] (x)

)
-1
Hence, / is strictly increasing in [2

Thus, / is strictly increasing nor strictly decreasing in interval (-L1)

Question 12:

T
Which of the following principles are strictly decreasing on ( "2 J ?
(A) cosx (B) cos2x (C) cos3x (D) tanx

() Let /i(x)=cosx

Therefore, £ (x)=-sinx
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T\ _
0— ,f x)=—sinx<0
In interval( ZJ (%)

T
O,—J
Thus, cosx is strictly decreasing in ( 2).

(8) Let /,(x)=cos2x

Therefore, £, (x)=-2sin2x

Now,
:>O<x{£
2

=0<2x<mw
=sin2x>0
= -28in2x<0

T
: : s
Hence, /> (x)=-2sin2x<0 [ QJ
Thus, cos2x is strictly decreasing in '

(c) Let J (X) =cos3x

Therefore, fi (x)=-3sin3x

Now,

£ (x)=0

:>Si113x:0

- [ [ogﬂ

7
=S X=—
3

7 aices (%) o (*5) na (5-3)
X=— L s o P U
The point 3, divides\ 2/ into\ 3/ and \3 2

i
O<x<—
0,%J,f;(x)=—3sin3x<0 3

In interval 0<3x<m
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T
0,—
Hence, /5 is strictly decreasing in ( 3)

nrT

[ ; J,f;(x)=—3sin3x>0 [£<x<£<n‘<3x<3—ﬂ}
Ininterval \ 3 2/ 3 2 2

Hence, / is strictly increasing in \ 32

Thus, cos3x is neither increasing nor decreasing in interval \ 2

o) Let Ja(x)=tanx

Therefore, L (x)=8ec" %

T r 2
0,— . f, [x)=sec x>0
In interval [ 2J «(x)

T
o,]
Thus, tanx is strictly increasing in ( 2

Thus, the correct options are A and B.

Question 13:

100 .
c)=x" +smx-—1

On which of the following intervals is the function /* is given by f(x) is strictly

decreasing?
T T
o) 5) [°5)
(A) (0, B) \2 o\ 2 (D) None of these
We have,
S (x)=x'"+sinx—1
Therefore,

S'(x)=100x" +cos x

In interval (0:1):€05X>0 414 100x” >0
Hence, f'(x)>0

Thus, / is strictly increasing in (0-1)
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) (—,n],cosx<0
In interval \ 2 and 100x”° >0
Hence, f'(x)>0

T
_JK
Thus, ./ is strictly increasing in interval [2 ]

o (O,—J,cosx>0 ”
Now, in interval \ 2 and 100x” >0
Hence, S'(x)>0

T
o,_]
Thus, f is strictly increasing in interval ( 2

Hence, / is strictly decreasing in none of the intervals.

Thus, the correct option is D.

Question 14:

2
=x +ax+1 ;

For what values of a the function / given S (x) is increasing on [1.2]9

We have

_f(x)=x2+ax+l
Therefore,

f'(x)=2x+a
Now, the function ./ is strictly increasing on [1.2]
Therefore,

= f'(x)>0

=2x+a>0

= 2x>-a

=x>—

2

Here, we have 1<x<2

Thus,
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Question 15:

Let I be any interval disjoint from [-1.1]. Prove that the function S given by -
increasing on I.

We have
f (x) =x+ s
Therefore,
R 3
/ (x)‘ 2
Now,
)‘"(x)=0
:l—l, =0
'
= xl —
= x=+1

The points x =1 and x =-1 divide the real line intervals (=0.1).(=1.1) and (1)

In interval (_1’1), -l<x<l

2
=eydig

1

=l<— x7#0
X

:>1——]7<{) x#0
X

1
i) sl sad
Therefore, (%) x° < on (—L1) ~{0}

Hence, / is strictly decreasing on (-1.1) ~{o}

Now, in interval (==1) and (1’”3), x<-lorl<x

f'(x):x+—1— .
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2
= e |

1

=>1:>—2
X

:>1——],—>0
2

v(g)m1-L
f(x)=1 x2>0

Therefore, on (—.-1) ang (1L»)

Hence, / is strictly increasing on (=0,=1) and (L.=)

Thus, / is strictly increasing in I in [-1.1]

Question 16:
T

Prove that the function / given by / (x)=logsinx jg increasing on ( ’ ZJ and decreasing on

5)

We have
/(x) =logsinx
Therefore,
,, 1
x)= COS
Y (Y) sin x Q
=cotx

[0,%},_)"’(}:) = cotx >0

In interval

T
X
Hence, / is strictly increasing in ( 2.

T ‘
—, 7 |, f'(x)=cotx<0
In interval [2 ] (x)

T
— T
Hence, / is strictly decreasing in [2 ]
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Question 17:

Prove that the function / given by / (x)=log|cos x| j decreasing on (

5]
27" ).

We have f(x)=log “30”‘
Therefore,

(—sinx)

£(0)=

=—tan x

COS X

) [{},EJ,tanx>O::>—tanx<0
In interval \ 2
Hence, J'(x)<0

n
0.2}
Thus, / is strictly decreasing on [ 2).

3—n,2ﬂ],mnx<0:> —tanx >0

In interval [ 2
Hence, f'(x)>0

—,2r

3r
Thus, / is strictly increasing on [ 2 ]

Question 18:

Prove that the function given by -

We have
/(x) =x’-3x* +3x-100

Therefore,
Sf'(x)=3x"-6x+3
=3(x*—2x+1)

2

=3(x—1)

f(x)=x"-3x" +3x-100 ;

oz
2

J and increasing on

s increasing in R.
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For xeR, (x=1) 20
So, / (%) is always positive in R.

Thus, the function is increasing in R.

Question 19:
The interval in which ¥ =x"e¢”" is increasing is

(A) (—.) @) (-2.0) (©) (2.=) ) (0:2)

2 _-x
We have y=x"¢e

Therefore,
i =2xe™™ =5t
dx
=xe " (2-x)
Y _o
Now, dx

Hence, x=0 and x=2

The points x =0 and x =2 divide the real line into three disjoint intervals i.e., (_"3’0), (0.2)

and (va).

In intervals (—0) and (2,:0)’ J'(x)<0 g5 o i always positive.

Hence, / is decreasing on (—:0) and (2:%)

In interval (0»2), f'(x)>0

Hence, / s strictly increasing in (0-2)

Thus, the correct option is D.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

EXERCISE 6.3

Question 1:

Find the slope of the tangent to the curve ¥ =3x" —4x at x=4.

The given curve is ¥ =3x" —4x

Then, the slope of the tangent to the given curve at x =4 is given by,

dy d (4
E}rﬂ -~ g(gf —4)()].[:4

=12x° —41:4
=12(4) -4
=12(64)-4
=764

Question 2:

Find the slope of the tangent to the curve 4 x=2 at x=10.

The given curve is 4 x-2
Therefore,

dy d{x-1
EZE(E]
_(x=2)()-(-1)()
(x=2)
:x—2~x+1
(x-2)°
_ -1

(x-2)°

Now, the slope of the tangent to the given curve at x =10 is given by,
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QJ =
dx |, (x_z)z -

.

(10-2)
-1

64

Question 3:

Find the slope of the tangent to curve ¥ = x’=x+1 at the point whose x-coordinate is 2.

. . 3
The given curve is ¥ =X —x+1

Therefore,
Y = i(x3 —x+ l)
dx dx
=3x% -1

Now, the slope of the tangent at the point where the x-coordinate is 2 is given by,

Question 4:

Find the slope of the tangent to curve ¥ = X’ =3x+2 at the point whose x-coordinate is 3.

The given curve is V= X =3x+2

Therefore,
d—yzi(xs —3x+2)
dx dx
=3x*-3

Now, the slope of the tangent at the point where the x-coordinate is 3 is given by,
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=3(3)"-3
=27-3
=24

Question 5:

Find the slope of the normal to the curve X =a cos’ 0,y =asin’ 0 at

. . a
The given curve is x =acos’@ and y =asin" 0

Therefore,
“« :i(au::t;)s'1 6)
do do
=-3acos’ Bsind
D i(a sin’ 9)
do do
=3gsin’ B(COSG)
Hence,
£
dy _\d6)_ 3a sin” @ cosO
dx (ﬁ] —3acos’Osinf
do
_ sin@
~ cos6
=—tanf
g="
Now, the slope of the tangent to a curve at 4 1is given by,
Q:| =—tan 6] w
dx |, = 0%
4
i1
=—tan—

—

VA
0="_
Hence, the slope of the normal at 4 is given by,

SN
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-1 -1

slope of the tangent at 6 = %

Question 6:

Find the slope of the normal to the curve x=1-asin@ and ¥y =b cos’ 0 at

It is given that x=1-asin® and ¥ =bcos 0

Therefore,
ﬁ :—d—(l—asinﬂ)
dg do
=—qcosO
Lo i(b cos’ 9)
do de
=-2hsinfAcosA
Hence,

dy
dy \d0) —2bsinfcos6

dx [ dxj ~ —acosf
do
= L sin@
a
_T
Now, the slope of the tangent at 2 1is given by,

d_y] = Esin 9}
dx |,.=  a o
2

2b . =w
="sin—

a
_2

a

(SRR

T
0=—. .
Hence, the slope of normal at 2 1is given by,

(S
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-1 s T

%) 2
a

slope of the tangent at 0 = % (

Question 7:

Find the points at which tangent to the curve ¥ = X =3x"-9x+7 is parallel to the x-axis.

. . 3 2 f
The given curve is ¥ =x" —3x" =9x+7

Therefore,
Q = i(f —3x* —9x+ ?)
dx dx
=3x’-6x-9

Since tangent is parallel to the x-axis if the slope of the tangent is zero.

Hence,
3x*—6x-9=0
=x’=2x-3=0
:>(x—3)(x+[):0
=x=3orx=-1
When, x=3
Then,
y=(3) -3(3) -9(3)+7
=27-27-27+7
=-20
When, x=-1
Then,
y=(=1) =3(=1)" =9(=1)+7
==1-3+9+7
=12

Thus, the points at which the tangent is parallel to the x-axis are (3.-20) 4pg (112,
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Question 8:

Find a point on the curve Y = (*=2)" at which the tangent is parallel to the chord joining the
points (2,0) and (4:4),

If a tangent is parallel to the chord joining the points (2.0) and (4:4)
Then, the slope of the tangent = the slope of the chord.

4-0 4
—_— = 2
Hence, the slope of chordis 4-2 2

<

Now, the slope of the tangent to the given curve is,

g%:z(x-a

Since, the slope of the tangent = the slope of the chord.

Hence,
2(x-2)=2
=x-2=1
1 el
When, x=3
Then,
y=(3-2)
=1

Hence, the point on the curve is (3.1),

Question 9:

Find the point on the curve ¥ =x" —11x+5 at which the tangent is ¥ =x—11,

The given curve is ¥ =x —11x+5

The equation of the tangent to the given curve is ¥ =x-11

Therefore, slope of the tangent is 1.
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Now, the slope of the tangent to the given curve is,

@zi(f—nxw)
dx dx
=3x?—11
Hence,
3x*-11=1
=3x* =12
=gt =
= ai=tD
When, x=2
Then,
y=(2) -11(2)+5
=8-22+5
=-9
When, x=-2
Then,
y=(-2) -11(-2)+5
=—8+22+5
=19

Thus, the points are (2,-9) and (-2.19).

Question 10:

1
=—— x#1
Find the equation of all lines having slope —1 that are tangents to the curve YA

. . y:L,x;tl
The given curve is x-1
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The slope of the tangents to the given curve is given by,

ﬁ_i(;]
dx  dx\ x—1
—~1

(x—1)°

The slope of the tangent is —1
So, we have:

-1 __
(x-1)

= (x-1)" =1

= x—-1==l1

=x=20
When, x=0,=y=-1 and when x=2,= y=1

Thus, there are two tangents to the given curve having slope —1 and passing through the points
(0.=1) and (2.1).

Hence, the equation of the tangent through (0,-1) s given by,
y=(-1)=-1(x~0)
= y+l=—x
= y+x+1=0

The equation of the tangent through (2.1) i given by,
y-1=-1(x-2)
=y—-l=x+2
= y+x-3=0

Thus, the equations of the required lines are ¥ +x+1=0 and y+x-3=0,

Question 11:
Find the equations of all lines having slope 2 which are tangent to the curve - x-3
1

. . Y=
The given curve is x-3
The slope of the tangents to the given curve is given by,
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The slope of the tangent is 2
So, we have:

-1
(x-3)
= 2(x-3) =-1

:>(x—3)2=_71

=2

It is not possible since the LHS is positive and RHS is negative

Thus, there is no tangent to the curve of the slope 2.

Question 12:
B 1
Find the equations of all lines having slope 0 which are tangent to the curve YT oxt3.

1
The given curve is Y axt3

The slope of the tangents to the given curve is given by,

d_y:i[;)
dx  de\x’-2x+3
__-(x-2)
(2 -2x+3)
—2(x-1)
(,\:2—2x+3)2

The slope of the tangent is 0
So, we have:

—Z(x—l)
(Jr2 w2x+3)2
= -2(x-1)=0

= x=1

=0
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When, x=1
Then,

1

Hence, the equation of the tangent through [ ’2] is given by,

y—%:()(x—l)
1
A
=y -
o g b
=3

Thus, the equation of the line is 'y

Question 13:

2 2
X ¥
e L M
Find the points on the curve 9 16  at which the tangents are
(i) parallel to x-axis (ii) parallel to y-axis
2y
The equation of the given curveis 9 16

On differentiating both sides with respect to x, we have:

BEXpE T
9 16 dx
dv —léx
— i =
dcx 9y
—16x 0
() The tangent is parallel to the x-axis if the slope of the tangent is 9y , which is

possible if x=0

Thus,
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+._..
0 16 for x=0

Therefore,
= Y =
16
= yz =16
= y==14

Hence, the points are (0.4) and (0,-4).

(ii) The tangent is parallel to the y-axis if the slope of the normal is 0, which gives
=1

—16x
9y
:izo

16x
=y=0

=0

Thus,

+—=1
9 16 for y=0

Therefore,

x!
=>—=1
9

=x'=9
=13

Hence, the points are (3.0) and (-3.0).

Question 14:
Find the equation of the tangents and normal to the given curves at the indicated points

M) y=x'—6x +13x ~10x+5 gt (0.5)
i) y=x'—6x"+13x" ~10x+5 at (1,3)
iy »=x"at (L)
) »=x at(0,0)
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T
(vy X=cost,y=sint at 4

(i)  The equation of the curve is ¥ = x*—6x" +13x% —10x+5

On differentiating with respect to x, we get:

d 5 A y
—y:4x“ —18x" +26x—-10
dx

ﬁ] ——10
dx (0.5)

Thus, the slope of the tangent at (0.5) is —10.

The equation of the tangent is given as:
y—Sz—lO(x—O)
= y-5=-10x
=>10x+y=5

Slope of normal at (0.5) is
-1 -1 1

slope of the tangent at (0,5) ~-10 10

Therefore, the equation of the normal at (0.5) is given as:
1
~5=—(x-0
s Tl

=10y-50=x
= x-10y+50=0

(i) The equation of the curve is ¥ = x*—6x" +13x% —10x+5 gt (1.3)

On differentiating with respect to x, we get:

iy-:-“-bc3 —18x* +26x—10
dx

ﬁ] =4-18+26-10=2
(1,3)

Thus, the slope of the tangent at (1.3) is 2.
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(iii)

The equation of the tangent is given as:

y-3=2(x-1)
=)= 3=25-2
= y=2x+]

Slope of normal at (1.3) is
-1 -1

slope of the tangent at (1,3) 2

Therefore, the equation of the normal at (1.3) is given as:

v—3=%(x—l)

=2y—-6=x+1
=x+2y-T7=0

The equation of the curve is ¥ = x* at (L1)

On differentiating with respect to x, we get:
ar 3x’
dx

ﬂ} =3(1)" =3
(1.1)

dx

Thus, the slope of the tangent at (11) is 3.

The equation of the tangent is given as:
y—1=3(x-1)

= y=3x-2

Slope of normal at (L1) is
-1 -l
slope of the tangent at (1,1) 3

Therefore, the equation of the normal at (L1) i given as:

y—]z?(x—l)

=3y —-F=—=k+l]
=>x+3y—-4=0
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(ivy The equation of the curve is V= x at (0,0)

On differentiating with respect to x, we get:

d
dx

“
dx (0,0)

Thus, the slope of the tangent at (0,0) js 0.

The equation of the tangent is given as:
y—-0=0(x-0)

= y=0

Slope of normal at (0,0) is
-1 -1

slope of the tangent at (0,0) 0 . which is not defined.

0,0)

Therefore, the equation of the normal at ( 1s given as x =0

T
. : ; ¢
The equation of the curve is x=cost and y=smnf at 4

On differentiating with respect to ¢, we get:

dx : dy
— =—sint — =cost
dt and dt

Therefore,

&
dy _\dt cost

B =—cot¢

dx [@J —sint
dt
Hence,

@ =—cott=-1
dx | _=

4

bra

t .
Thus, the slope of the tangentat 4 is —1.
Hence,
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1 1

= y_—
V2 and V2

The equation of the tangent is given as:

S B
T 2 2
:>x+y—\/5=0

Y3

Slope of normal at 4 is
-1 -1

slope of the tangent at ¢ = %

T
4

Therefore, the equation of the normal at is given as:

=>x=y

Question 15:

Find the equation of the tangent line to the curve ¥ =" —2x+7 which is
(a) parallel to the line 2x=y+9=0
(b) perpendicular to the line Sy—15x=13

The equation of the curve is ¥ =x" —2x+7

On differentiating with respect to x , we get:
dy _
==

2x-2

(a) The equation of the line is 2x—y+9=0
= y=2x+9
This is of the form y=mx+c

Hence, the slope of line is 2
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If a tangent is parallel to the line 2x—y+9=0 then the slope of the tangent is equal to
the slope of the line.

Therefore, we have:
2=2x-2
=2x=4
=x=2

Now, x=2

Then,
=>y=4-4+7
=>y=7

Thus, the equation of tangent passing through (2.7) is given by,
y=7=2(x-2)
= y—-2x-3=0
(b) perpendicular to the line Sy —15x=13
13
= y=3x+—
Y =23k 5

This is of the form y=mx+c

Hence, the slope of line is 3

If a tangent is perpendicular to the line Sy —15x=13 | then the slope of the tangent is,
-1 -1

slope of the line N3
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Therefore, we have:

2){—2=7—1
3

:>2x=_—l+2

X =

|

Now,

Then,

25 10
=—d4—
36 6
~25-60+252

36

_a17

"~ 36

y +7

5 217
Thus, the equation of tangent passing through [6 ' 36 ] is given by,

217 1( 5]
AR o [P
36 3 6

:>36y—217:—_1(6x_5)
36 18

=36y -217=-2(6x-5)
=36y-217=-12x+10
=36y +12x-227=0

Question 16:

Show that the tangents to the curve »=7x"+11 at the points where x=2 and x=-2 are
parallel.

The equation of the given curve is ¥ =7x" +11.
Therefore,
dy

— =21x*
dx


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

Thus, the slope of the tangent at the point where x =2 is given by,

Also, the slope of the tangent at the point where x =-2 is given by,

dy 2
D\ —p1{2V-3
dxj|\':—2 ( )

It is observed clearly that the slopes of the tangents at the points where x=2 and x=-2 are
equal.

Hence, the two tangents are parallel.

Question 17:

3
Find the points on the curve ¥ =% at which the slope of the tangent is equal to the y-coordinates
of the point.

The equation of the given curve is V= X’
Therefore,
dy
dx

=3x’

When the slope of the tangent is equal to the y-coordinate of the point, then According to the

bl
question, V= 3x

Also, we have V= ¥

Therefore,
3xt=x°
= x? (x—3) =0

=x=0,x=3

When, x=0,= y =3 and x:3*:’y:3(3)2 =27

Thus, the points are (090) and (392?).
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Question 18:

3 A5
For the curve Y =4% =2X"_ find all the points at which the tangent passes through the origin.

3 5
The equation of the given curve is V= 4x" -2x
Therefore,

gl:lzxz—l()f

X

Hence, the slope of the tangent at the point (x,y ) is 12x* —10x"

Thus, the equation of the tangent at (x,y ) is given by,
Y-y =(12x* -10x*) (X -x)

When the tangent passes through the origin (090) , X=Y=0.
Therefore,

-y =(12,\c2 —lU,r4)(—x)
y=12x" -10x’

3 5
Also, we have V =4x"-2x
Hence,

5122 =10x° =42
= 8x° —8x° =0
=x-x=0

:>)c3(x2 —l)=0

=% x=0,%1

When, ¥=0,= ¥ =4(0)" -2(0)" =0
When, les:y=4(!)3‘2(1)j =2

When, ¥=-1.= y=4(-1)' =2(-1)' =2

Thus, the points are (0’0), (1=2) and (_1’ _2)
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Question 19:

2, 2
Find the points on the curve ¥ *J — 2x-3=0 at which the tangents are parallel to the x-axis.

2, .2
The equation of the given curve is ¥ T — 2x-3=0

On differentiating with respect to ¥, we have:

2x+2}’@—2=0

dx
:>yﬁ=1—x
dx
d _
B _1-x
dc y

Now, the tangents are parallel to the x-axis if the slope of the tangent is 0.
Therefore,

—=0
v

=1-x=0

=x=1

2, 2
But we have X 17 —2x-3=0 for x =1
Hence,

=y’ =4

= y=12

Thus, the points are (1=2) and (1’_2).

Question 20:

: : . 2 a3
Find the equation of the normal at the point (am’,am) for the curve @* =X,

2_ 3
The equation of the given curve is & =X

On differentiating with respect toX, we have:
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dy 2
2ay—=3x"
4 dx

& _3e
dx 2ay
(am?,am“) .

The slope of a tangent to the curve at is

dy} B 3(am2 )2
E (am? ) B 2a(am3)

)
3a’m?

C2a’m’
_3m

2

2 3
Therefore, the slope of normal at (am®,am’ )

-1 ~1 ~2

slope of the tangent at (amz, ams) - [3;"?) 3m
2

2 3
Hence, the equation of the normal at (am ;@ ) is given by,

Y- {H’ﬂ's = ;—m(x - am: )

= 3my —3am® = —-2x+2am’

= 2x+3my —am® (2 + 3m2) =0

Question 21:

3
Find the equation of the normal to the curve V=X +2x+6 which are parallel to the line
x+14y+4=0,

3
The equation of the given curve is V=X * 2546

The slope of the tangent to the given curve at any point (x,y ) is given by,

é’1&:3;:2+2

x

Therefore, slope of the normal to the given curve is,
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-1 -1
slope of the tangent  3x% +2

The equation of the given line is x+14y+4=0
Y=774" 714 , which is the form of ¥y =mx+c
Hence,
-1 _-l
3x°+2 14
=37 +2=14
=3t =12

=>x' =4

T o g4

When, x=2,= y=8+4+6=18
When, x=-2,= y=-8-4+6=-6

-1
Therefore, there are two normal to the given curve with slope 14 and passing through the points

(2=18) and (_2=_6).

Thus, the equation of the normal through (2= I 8) is

-1
—18=—~ (x-2
? TR
= 14y-252=x+2
= x+14y—-254=0

And the equation of the normal through (_2= —6) is
1

)= (e=ld
y=(-6)=(x-(-2))
=14y+84=—x-2
= x+14y+86=0

Hence, the equations of the normal to the given curve are x +14y—254=0 and x+14y+86=0,

Question 22:

2 2
Find the equation of the tangent and normal to the parabola V = 4ax gt the point (at =2‘”) :
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2 )
The equation of the given parabolais J = 4ax

On differentiating both sides with respect to ¥, we have:

2y£ =4a
X
dv_2a
dx v
Therefore, the slope of the tangent at (‘“2’2‘“) is
dyv _ 2a 1
ail(uflm) - % - ;

2
Hence, the equation of the tangent at (‘“ =2‘“) is
1 3
y—2at=—(x—at”
HE { ( )
= ty-2at* =x—at’
=ly=x+ at’
(at2 2at) :
Now, the slope of the normal at ’ is
-1 -1

= =—f
slope of the tangent at (arz,Zm) [1

¢

2
Thus, the equation of the normal at (“‘ =2‘”) is
y—2at =—£(x—a£2)
= y—2at=—tx+at’

= y=—tx+2at+at’

Question 23:

_ 2 . "
Prove that the curves ¥ =V and xy =4k cut at right angles if 8k =1.
[Hint: Two curves intersect at right angle if the tangents to the curve at the point of intersection
are perpendicular to each other.]

2
The equations of the given curves are * =) and xy =k
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2
Putting * =V in xy =k

Vvi=k
1
=p=Fk?
2
= x=k?

2 1
E?;‘EJ

k

Thus, the point of intersection of the given curves is [
2

Differentiating ¥ = with respect to X, we have:

1:2}1_
X

LA

dx 2y

2 1
3 k.?
is

k
2
Therefore, the slope of the tangent to the curve ¥ =V at [
a’y} ]

dx [N ;'] 2k3

On differentiating xy = & with respect to X, we have:

3‘
‘(24—)::0
dx

e

de x

4
3

3k

L | =

)i

k
Now, slope of the tangent to the curve xy =4 at [

%}{,{;a _ﬂ[J

We know that two curves intersect at right angles if the tangents to the curves at the point of

7 1
k3, k3

intersection i.e., at [ J are perpendicular to each other.
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This implies that we should have the product of the tangents as —1.
Thus, the given two curves cut at right angles if the product of the slopes of their respective

2 1
tangents at is 1. ie,

= 2k3 =
:{215} 1y
= 8k% =1

Hence, the given curves cut at right angle if 84* =1.

Question 24:

2 2
X ¥

Find the equation of the tangent and normal to the hyperbola a® b’ " atthe point (%020 )

o
Differentiating a’ b’ with respect to ¥, we have:
2x 2ydy
—geg =i
a b dx
2ydy_2¢
b dx a’

dy b’x

= 2
dc a'y

Therefore, the slope of the tangent at (%030) is

Q} by,
df (%0.¥0) azyo

Hence, the equation of tangent at (%0:30) is
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b2
Y= alx{] (x = XU)

V]

2 202 _ 32,  p2.12
=ayy,—aly, =b XXy bxf:

2 2 2.2 o A
:>bxxn*ayyufbxu —ay, =0

a b
XX, WY
2 10
‘xx(] .}y(l i
2 %
a b

Now, the slope of normal at (xmyn) is
-1 _—a’y,
slope of the tangent at (x,,v,) b°x,

Hence, the equation of normal at (%0, rl) is

Question 25:

Find the equation of the tangent to the curve V=v3x-2 which is parallel to the line
4x-2y+5=0,

The equation of the given curve is V= A3%=2

The slope of the tangent to the given curve at any point (x,y ) is given by,
dy 3

dx  243x-2

The equation of the given line is 4x -2y +5=0,

5
= yp=2x+— L.
e 2, which is the form of y=mx+c¢
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Hence, the slope of line is 2.

Now, the tangent to the given curve is parallel to the line 4x—2y+5=0 if the slope of the
tangent is equal to the slope of the line.

Therefore,
2 =2
2v3x-2
= 3x-2 :E
4
=>3x-2=—
9
:3»:rc:—+2:ﬂ
16 16
41
=S x=—
48
41
X =—
When, 48
Then,

41 3
Thus, equation of the tangent passing through the point [48 } 4] is
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3 41
W 0
¥3 [x 48]
_4y-3 :2[48x—4IJ

4 48
48x—41]

:>4y—3=[

=24y —18=48x—41
= 48x—24y =23

Question 26:
2 .
The slope of the normal to the curve ¥ =2X" +38I0X gt x=0 is
1 1
(A) 3 (B) 3 (C) -3 D) 3

2 .
The equation of the given curve is V= 2x" +3sinx

Slope of the tangent to the given curve at x =0 is given by,

dv
—}] =4x+3cosx]
ax |- =
=0+3cos0
=3

Hence, the slope of the normal to the given curve at x=0 is
-1 -1

slope of the tangent at (x=0) 3

Thus, the correct option is D.

Question 27:

2
The line » = x+1 is a tangent to the curve V = 4x at the point

@A) (1.2) @) (2.1) ) (1L-2) @) (-1.2)

2
The equation of the given curve is V = 4x
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Differentiating with respect to X, we have:

dy
2y—=
.de

@ _2

dx y

The given line is ¥ = x+1 which is of the form y=mx+c,
Hence, slope of the line is 1

The line ¥ =x+1 is a tangent to the given curve if the slope of the line is equal to the slope of
the tangent.
Also, the line must intersect the curve.

Thus, we must have:

Therefore,
y=x+1
=x=y—-1
=>x=2-1
=x=1

Hence, the line ¥ =x+1 is a tangent to the given curve at the point (L2) :

Thus, the correct answer is A.
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EXERCISE 6.4

Question 1:

Using differentials, find the approximate value of each of the following up to 3 places of
decimals.

(i) Vv25.3 (i) v49.5 (iii) Jo.6
(iv) (0.009); (v) (0:999)ia iy (15"
(vii) (26)° (viii) (255)¢ (ix) (82)¢
() (401)2 (xi) (0:0037): (xii) (26.57)
(xiii) (81:5)¢ (xiv) (3.968)2 (xv) (32.15)
(i) V253

Consider V= \/;
Let x=25 and Ax=0.3

Then,
—Jx
-25

-5

&
I

25.

Ay+5=+/253

LJJ

Now, 4V is approximately equal to Ay and is given by,

()

=$(0.3) [ y=vx]

1
"2 )

=003

Hence,
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v25.3=0.03+5

=503

Thus, the approximate value of v25.3 =5.03 .

(i) /49.5
Consider ¥ = Jx

Let x=49 and Ax=0.5

Then,

=iz
~49
49.5 -7

Ay+7=+495

Ay =

Now, 4y is approximately equal to Ay and is given by,

dx
({).S) [ y:\/;]

1
2dx

s
—%(0.5)

=0.035

Hence,

V49.5 =7+0.035

=7035
Thus, the approximate value of v49.5 =7.035,
(iii) V0.6
Consider »=~x .

Let x=1 and Ax=-04

Then,
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Ay = Jx+Ax —/x
=+0.6 -1
Ay+1=+0.6

Now, 4y is approximately equal to Av and is given by,
dy
dy =| — |Ax
g (a’x)
|
=—(-04 T
2\/;( ) [ y=vi]

:%(—0.4)

=-0.2
Hence,

J0.6 =1+(-0.2)
=1-0.2
=0.8

Thus, the approximate value of V0.6 =0.8.

1
(iv) (0.009)3
1
Consider ¥ =(x)?
Let x=0.008 and Ax=0.001

Then,

Ay = (x+Ax)s —(x):

~ (0.009)5 — (0.008)3

!
=(0.009)3 —0.2

Ay +0.2 =(0.009)3

Now, v is approximately equal to Av and is given by,
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(v)

o (2

) 3(,1).5 ) [ T ﬂ

I
T 3%0.04
~0.001

012
=0.008

(0.001)

Hence,

1
(0.009) =0.2+0.008
=0.208

..|.
Thus, the approximate value of (0.009)5 =0.208
1
(0.999)i0
1
Consider ¥ =(x)10
Let x=1 and Ax=-0.001

Then,

Ay = (x+ Ax)io - (x)0

1
(0.999)i0 —1

I
Ay +1=(0.999)10

Now, 4 is approximately equal to Ay and is given by,

() =]

=—0.0001
Hence,

|
(0.999)10 =1+(~0.0001)
=0.9999
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1
Thus, the approximate value of (0-999)10 =0.9999

(vi) (15)"

1
Consider ¥ =(¥)?
Let x=16 and Ax=—

Then,
1

Ay = (x+Ax)% ()4

- (15)+-(16):
05)5 2
Ay+2=05y

Now, 4v is approximately equal to Av and is given by,

dy
fv=|— |Ax
i {dv]

1

L (an oy

 4x8
-1
2
=—003125

Hence,
1
(15)Z = 2+(—0.03125)
=1.96875

x ,
Thus, the approximate value of (15)4 =1.96875

(vii) (26)°
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1
3

Consider ¥ =(* )
Let x=27 and Ax=-1

Then,

Now, @y is approximately equal to A7 and is given by,

dy
dy=| 2 |ax
“"[afx)

= 1 Vovy=Ix 3
e -]
-— g(_l)

3(27)

_-!
27
=-0.0370
Hence,
1
(26): =3+(-0.0370)
=2.9629

1 .
Thus, the approximate value of (26)3 =2.9629
1
(viii) (255)*
L1
Consider ¥ =(¥)*
Let x=256 and Ax=-1

Then,
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g hor)t — ()

Ay =( —(x
= (255):[1 —(256)4]1
~ (255)i -4
Ay+4=(255)s

Now, 4v is approximately equal to Av and is given by,

dy = (d_y] Ax
dx

Hence,

(255)% =4 +(~0.0039)
=3.9961

1
Thus, the approximate value of (255)* =3.9961
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1
(ix) (82)4
1
Consider ¥ =(¥)*.
Let x=81 and Ax=1

Then,

Hence,

1
(82)F =3+0.009
=3.009

1.
Thus, the approximate value of (82)+ =3.009
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(o (4012
Consider ¥ =(¥)?
Let x=400 and Ax=1
Then,
Ay =

(

_ (401)% (400)%
(
(

S—
1| =

Ay +20=(401)2

Now, 4V is approximately equal to Av and is given by,
(2
dx

@) ]

Hence,

|
(40])2 =20+0.025
=20.025

Thus, the approximate value of (401)2 =20.025

1
(xi) (0.0037)2
Consider ¥ =(* )E

Let x=0.0036 and Ax =0.0001
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Then,

by = (x+ &)z —(x):
- (0.0037): —(0.0036):
= (0.003 )—0.06
Ay +0.06 = (0.0037):

Now, 4y is approximately equal to Av and is given by,
(2
dx

| .
=ﬁ(m) et
30 06)(0 0001)

:0,0001

0.12
=0.0008325

Hence,

(0.003?)% =0.06+0.00083
=0.06083

.l.
Thus, the approximate value of (0.0037)2 =0.06083

1
(xii) (26.57)
1
Consider ¥ =(X)?
Let x=27 and Ax=-0.43

Then,
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Now, 4y is approximately equal to AY and is given by,

(2

) 3(i)§ ) o]

=1 (~0.43)

309)
_ 043
27
=-0015

Hence,
1
(26.5?)5 =3 +(—0.015)
=2.984

Thus, the approximate value of (26.57)3 =2.984

!
(xiii) (81-5)*
1
Consider ¥ =(x)?
Let x=81 and Ax=0.5

Then,

By = (xR ()
=(81_5)l —(gl)l
:(SI.S)L -3

|
Ay+3=(81.5)4

Now, v is approximately equal to Av and is given by,
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. o () { g (xﬂ

Hence,

(81.5)7 =3+0.0046
=3.0046

1
Thus, the approximate value of (81.5)¢ =3.0046

(xiv) (3.968)2
3
Consider ¥ =(¥)?

Let x=4 and Ax=-0.032

Then,

Now, 4y is approximately equal to Av and is given by,
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EN
SR [
:%(2)(—0.032) =

—-0.096

Hence,

(3.968)2 =8+(~0.096)
~7.904

3

Thus, the approximate value of (3.968)2 =7.904

(xv) (32- l 5)::

1
Consider ¥ =(x)?

Let x=32 and Ax=0.15

Then,

1
Ay+2=(32.15)5

Now, v is approximately equal to Av and is given by,
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015

80
=0.00187

Hence,

(32.15)5 =2+ 0.00187
=2.00187

!

Thus, the approximate value of (32-15)5 =2.00187,

Question 2:

=4x" +5x+2 )

Find the approximate value of / -(2-01), where /(%)

Let x=2 and Ax=0.01

Then,
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S(2.01)= f(x+Ax)
= 4(x+ ..-M:)z + S(x + .-'f\x:)+ 2
Av—f(\:-f—;_\.\:)-f(x)
S(x+Ax)=f(x)+Ay
= f(x)+[f (.\,)-A\: (- dx':Ar)

(41: +3x+2) 8x—5)r‘\x

[ 2)° +5(2)+2]+[8(2)+5](0.01)
(

16+10+2)+(16+5)(0.01)

28+21(0.01)
28+0.21
2821

OO

Hence, the approximate value of f(2.01)=2821

Question 3:

Find the approximate value of / (5-001) , where / (x)=x"-7x"+15

Let x=5 and Ax=0.001

Then,
S(5.001) = f(x+Ax)
=(x+Ax) =7 (x+Ax) +15
/_\.y:f(x+Ax)—f(x)
f(x+Ax):f(x)+Ay
= f(x)+f(x) Ax (v dx=Ax)

7(5.001) = (x* = 7x* +15) (3x2—14x)Ax

(
[(5) =7(5)" +15]+[3(5)" ~14(5) J(0.001)
125-175 +15) (75-70)(0.001)

(
(=35)+(5)(0.001)

—35+0.005
=-34.995

[ x=2,Ax=0.01]

[ x=5Ac=0.001]
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Hence, the approximate value of f (5 001) = -34.995 .

Question 4:

Find the approximate change in the volume ¥ of a cube of side x meters caused by increasing
the side by 1%

The volume of a cube ¥ of side x is given by V' =x’

Therefore,
dv :[d—qm
dx
=(3")ax
=(3x7)(0.01x) [ 1% of x is 0.01x]
=0.03x°

Hence, the approximate change in the volume of the cube is 0.03x°m’.

Question 5:
Find the approximate change in the surface area of a cube of side x meters caused by

decreasing the side by 1%.

The surface area of a cube (S ) of side x is given by S=6x".
Therefore,
ds = (—"] Ax
dx
= (l2x] Ax
=(12x)(0.01x) [ 1% of x is 0.0Ix]
=0.12x

Hence, the approximate change in the surface area of the cube is 0.12x"m”.
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Question 6:

If the radius of a sphere is measured as 7m with an error of 0.02m , then find the approximate
error in calculating its volume.

Let 7 be the radius of the sphere and A7 be the error in measuring the radius.
Then, »=7m and Ar=0.02m

Now, the volume ¥ of the sphere is given by,

V=—nrr
3
Therefore,
L =4z r?
dr
Hence,
dVv = (ﬁ:]Ar
dr
=(47r7)(0.02)
=47(7) (0.02)
=3.92xn

Thus, the approximate error in calculating its volume is 3.92zm’.

Question 7:

If the radius of a sphere is measured as 9m with an error of 0.03m, then find the approximate
error in calculating its surface area.

Let 7 be the radius of the sphere and Ar be the error in measuring the radius.
Then, r=9m and Ar=0.03m

Now, the surface area S of the sphere is given by,
S =4rnr’

Therefore,
ds

—=8nr
¥
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Hence,

dr
= (Sfrr)Ar
= 8?3(9)(0.03)
=2.16n

ds = (ﬁj Ar

Thus, the approximate error in calculating its surface area is 2.16zm”.

Question 8:

1f /(%) =32 +15x+5 then the approximate value of / (3-02) is
(A) 47.66 (B) 57.66 (C) 67.66 (D) 77.66

Let x=3 and Ax=0.02

Then,
£(3.02) = f(x+Ax)=3(x+Ax)" +15(x+Ax)+5
Ay = f(x+Ax)~ f(x)
f(t+,/_\r)=_f(x)+s_\y

= f(x)+f"(x) Ax (" de=Ax)

£(3.02) % (3% +15%+5) +(6x+15) Ax
=[33) +15(3)+3 | +[6(3) +15](0.02) [ x=3,Ar=002]
=(27+45+5)+(18+15)(0.02)
=77+(33)(0.02)
=77+0.66
=177.66

Hence, the approximate value of [(3.02)=77.66

Thus, the correct option is D.

Question 9:
The approximate change in the volume of a cube of side x metres caused by increasing the

side by is.
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(A) 0.06x'm’ (B) 0.6x’m’ (C) 0.09x’m’ (D) 0.9x’m’

The volume of a cube () of side x is given by V =x".

Therefore,

PEEAN
\ dx
=(3x7)(0.03x) [ 3% of x is 0.03x]

=0.09x
Hence, the approximate change in the volume of the cube 0.09x'm’.

Thus, the correct option is C.
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EXERCISE 6.5

Question 1:
Find the maximum and minimum values, if any, of the following functions given by

i) f(x)=(2x-1)"+3
(ii) f(x)= 9x? +12x+2
Giiy S (x)=-(x -1) +10
iv) €(x)=(x)+

i 2
(i) The given function is ./ (x)=(2x-1)"+3

2
It can be observed that (2X—1) 20 for every xcR.

z 2
Therefore, /(X)=(2x=1) +323 g, every xeR.

The minimum value of / is attained when 2x—1=0
2x—1=0

1
= x=—
2

Hence, minimum value of

f= I[%J

=3

Thus, the function / does not have a maximum value.

(ii) The given function is J/ (¥)=9x" +12x+2

It can be observed that (3¥+2) 20 for every xeR.
Therefore, / (¥)=(3x+2) =22-2 g4, every xeR.

The minimum value of / is attained when 3x+2=0
3x+2=0

= X=—
3

Therefore, Minimum value of
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Hence, the function ./ does not have a maximum value.

3 2
(i) The given function is /(¥)=—(x-1)"+10
It can be observed that (¥*—1)" 20 for every xeR.
3 2
Therefore, / (¥) = —(x=1) +10<10 g, every xeR.

The maximum value of f'is attained when (x—1)=0
(x-1)=0

x=1

Therefore, Maximum value of
r=r(
=—(1-1)"+10
=10

Hence, the function ./ does not have a minimum value.

(iv) The given function is glx)=(x) +1
Hence, function £ neither has a maximum value nor a minimum value.

Question 2:
Find the maximum and minimum values, if any, of the following functions given by:

(i) f(x)=‘x+2|—l

(i) g(x)=—‘x+l|+3

(iii) h(x)=sin(2x)+5
(iv) f(x) =|sin 4x+3‘

(v) h(x)=x+lLxe(-LI)

(i) The given function is S(x)=|x+2]-1
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x+2|

It can be observed that | 20 for every xeR.

Therefore, /(¥) = e +2 =12 -1 for every xeR.
The minimum value of f'is attained when [x+2[=0
|x+2|=0

=x=-2

Therefore, Minimum value of
/=r(-2)
=|-2+1|-1
=-1
Hence, the function ./ does not have a maximum value.
(i) The given function is & (*)= —|x+1]+3

It can be observed that —[¥+1/<0 for every xeR .

Therefore, /() =[x +1[+3<3 for every xeR.

The maximum value of g is attained when [x+1{=0
|x+1]=0

=x=-1

Therefore, maximum value of
g=g(-1)
=—|-1+1]+3
=3

Hence, the function £ does not have a minimum value.

(iii) The given function is (x)=sin(2x)+5
We know that —1<sin2x <1
Therefore,
= -1+5<sin2x <145

=4 <sin2x+5<6

Hence, the maximum and minimum values of % are 6 and 4, respectively.

(iv) The given function is / (x) =|sin4x +3]
We know that —1 <sindx <1
Therefore,


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

= 2<sind4x+3<4

=2 S|sin4x+ 3| <4
Hence, the maximum and minimum values of /* are 4 and 2, respectively.

(v) The given function is h(x)=x+1xe(-11)

X

. . . +1>x,+1
Here, if a point %o is closest to —1 , then we find 2

for all %o € (_1’1).

1
+1<£+1

Also, if % is closest to 1, then find ™" forall % €(=L1)

Hence, function h(x) has neither maximum nor minimum value in (_Ll) .

Question 3:
Find the local maxima and minima, if any, of the following functions. Find also the local
maximum and the local minimum values, as the case may be:

M Sl)=x
(ii) g\c)zx}—Sx

h[x):sinx+cosx,0<x<%

(iii)
(iv)
(v)

f

(

(x): sinx—cosx,0<x<2mr
f(x)zf—éx2 +9x+15

(

x 2
(vi) g x):§+;,x>0
1
i) $9=73

(viii) f(¥)=xv1-x,0<x<1

G Jflx)=x
Therefore,

S'(x)=2x

Now,
f'(x)=0

=x=0

Thus, x =0 is the only critical point which could possibly be the point of local maxima
or local minima of /.
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We have /"(0)=2 , which is positive.

Therefore, by second derivative test, x =0 is a point of local minima and local minimum

value of / at x=0 is /(0)=0.

(ii) g(x)=x"-3x

Therefore,
g'(x)=3x"-3

Now,
g'(x)=0
=3x*-3=0
=ix=1l

Also,
g"(x)=6x
g"(1)=6>0
g"(-1)=-6<0

By second derivative test, x =1 is a point of local minima and local minimum value of £
at x=11s
g(l)= ’-3
=1-3
—. D

However, x =—1 is a point of local maxima and local maximum value of & at x=-1 is

g(-1)=(-1)-3(-1)
=—1+3
=1

: ™
h(x)=sinx+cosx,0<x <=

(iii)
Therefore,

h’(x] =COSX—Sinx

Now,
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h’(x) =0
= cosx—sinx=0

=S8N X =CO0SX

—tanx=1
=g [0,£]
4 2
Also,
h"(x)=—sinx—cosx
= —(sinx+cosx)
Hence,

T

. . X=—. . .
Therefore, by second derivative test, 4 1is a point of local maxima and the local
T

. X=—.
maximum value of / at 4 is
T . i1
h| — |=sin—+cos—
(4} 4 4

1
=—+

V2
=2

-

(iv) f(x)=sinx-cosx,0<x<2x

Therefore,

f'(x)=cosx+sinx

Now,
f'(x)=0
= cosx+sinx=0
= sinx=-Ccosx
= tanx =-1

=x=71 ¢ (0,27)
4 4
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(v)

Also,

f"(x)=-sinx+cosx

Hence,

,[3%]_ . (3?:] [3}{]
7| — |=—sin| — |+cos| —
4 1 4

(4
=D <)
(o2
{55)
=2>0

3t

xX=
Therefore, by second derivative test, [ 4 ] is a point of local maxima and the local

3%]
x=|—
maximum value of / at [4 is
_[3;1} : (BK] [3?1‘]
Jf| — |=sin| — |—cos| —
4 4 4

G
=2

Tr

x=|—
However, [ 4 ] is a point of local minima and the local minimum value of f

f(x):xJ —6x” +9x+15

Therefore,
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f'(x)=3x"-12x+9

Now,
7'(x)=0
=3x-12x+9=0
= 3(x-1)(x-3)=0
==1.3
Also,
f"(x)=6x-12
=6(x-2)
Hence,

=
r—
i
—
Il

6(1-2)=-6<0
f"(3)=6(3-2)=6>0

Therefore, by second derivative test, x =1 is a point of local maxima and the local
maximum value of /" at x=1 is
F(1)=1-6+9+15
=19

However, x =3 is a point of local minima and the local minimum value of /" at x=3 is
f(3)= 27-54+27+15
=15
, x 2
(Vl) g(JC):—2—+;',X>0

Therefore,

Now,
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Since, x>0, we take x=2

Hence,
Wy 4
g'(x)=—
= 4 1
b4 (2)=;25>0

Therefore, by second derivative test, x=2 is a point of local minima and the local
minimum value of & at x=2 is

2 2
2)==+=
8(2)=5+3
=1+1
=72
(_ . 1
i) =75
Therefore,
—(2x
¢(n) =)
(x‘+2)
Now,
g'(x)z()
—(2x)
(x2+2)
=x=0

Now, for values close to x =0 and to the left of 0, g'(x)>0

Also, for values close to x=0 and to the right of 0, g'(x) <0

Therefore, by first derivative test, x =0 is a point of local maxima and the local maximum
value of

(viii) f(x)=xy1-x,0<x<1

Therefore,
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Now,

Also,

Hence,
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2
Therefore, by second derivative test, T3isa point of local maxima and the local
2
maximum value of / at * 3 is
21 2 2
d (5] BEN Y
21
3V3
o 3
33
2B
9
Question 4:
Prove that the following functions do not have maxima or minima:
i Slx)=¢
(ii) g(x):logx

(iii) h(x)=x3 +x° +x+1

Now,
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(iii)

1'(x)=0

=e =0
But the exponential function can never assume 0 for any value of ¥ .
Therefore, there does not exist ¢ e R such that J "(c) =0
Hence, function ./ does not have maxima or minima.
g (.L) =logx
Therefore,

g'(x)= %

!
Since log x is defined for a positive number **& (%)>0 for any I,

f p—"
Therefore, there does not exist ¢ € R such that 8 (¢)=0
Hence, function & does not have maxima or minima.
h(x)=x’+x"+x+1

Therefore,
h'(x) =3x% +2x

Now,

h'(x):O

=3x2+2x+1=0
—2+22i

= xX=—

6

~1£/2i

=X = ]_;Ef;tR

Therefore, there does not exist ¢ € R such that W(c)=0,

Hence, function & does not have maxima or minima.
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Question 5:
Find the absolute maximum value and the absolute minimum value of the following functions
in the given intervals:

(i) f(x)=x',xe[-2,2]

(i) f(x)=sinx+cosx,xe[0,7]

9
(i) ( )=4x——x xe{—Z HZ_}
iv) f(x)= (x=1) +3,xe[-3,1]

(i) The given function is / (x)=x"

Therefore,
f(x)=3+
Now,
['(x)=0
=3x*=0

Then, we evaluate the value of /* at critical point x =0 and at end points of the interval

[-2.2].
Therefore,
f(O)— 0
(-2)=(-2)
=8
7(2)=(2y
=8

Hence, we can conclude that the absolute maximum value of ./ on [_2° 2]

at x=2.

is 8 occurring

-2,2]

Also, the absolute minimum value of /" on [ 1s -8 occurring at x =-2.

(i) The given function is [ (x)=sinx+cosx

Therefore,

/'(x)=cosx—sinx
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Now,
£(x)=0
= cosx—sinx=0
=sinx=cosx

=tanx=1
b

= x=—
4

_T
4

Then, we evaluate the value of /* at critical point ¥ and at the end points of the

interval [O’ g ] )

Therefore,
f[%]:sin(% +cos(%)
V2 V2 2
=2

/(0)=sin0+cos0
=0+1
=1
f(m)=sinm+cosm
=0-1
-

Hence, we can conclude that the absolute maximum value of / on [0’”] is V2

T

occurring at vy
Also, the absolute minimum value of f* on [0’” ] is —1 occurring at X=7 .

l
. . . fx)=dx——x
(ii1)) The given function is ¥ ()= 2"

Therefore,

£ (x)=4-(2%)
=4—x

Now,
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(iv)

/(x)=0
=4-x=0
=x=4

Then, we evaluate the value of / at critical point x =4 and at end points of the interval

=18-10.125
=7 R75

Hence, we can conclude that the absolute maximum value of ./ on {

at x=4.

Also, the absolute minimum value of ./* on {

The given function is f(x)=(x=1)"+3

Therefore,
f'(x)=2(x-1)
Now,
f'(x)=0
= 2(x—]) =0

= x=

9

2,2
2

} is 8 occurring

’ J i1s =10 occurring at x =-2.
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Then, we evaluate the value of /* at critical point x =1 and at end points of the interval

=31,

F()=(1-1)+3
=3
f(=3)=(-3-1)"+3
=16+3
=19

Hence, we can conclude that the absolute maximum value of /* on [_3’1] is 19 occurring
at x=-3.

Also, the absolute minimum value of /* on [_3’1] is 3 occurring at x =1.

Question 6:
Find the absolute maximum profit that a company can make, if the profit function is given by:

p(x)=41-24x-18x’

2
The profit function is given as 7 (x)=41-24x-18x
Therefore,
p'(x)=-24-36x
Now,
p'(x)=0
= 24-36x=0
24
= x=—
36
~2
=X =—
3
Also,
2 .
"| = |=-36<0
p[sj

2
. . X=——". . .
By second derivative test, 3 is the point of local maxima of 7 .

Therefore, maximum profit
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A3 )

=41+16-8
=49

Hence, the maximum profit that the company can make is 49 units.

Question 7:
Find both the maximum value and the minimum value of 3x* —8x®+12x°> —48x+25 on the

interval [O’ 3 ] )

Let J(¥)=3x" =8x" +12x" —48x + 25

Therefore,
f'(x)=12x" —24x" + 24x-48
=12(x* - 2x* +2x-4)
=12[ #* (x-2)+2(x-2)]
=12(x-2)(x* +2)
Now,
f'(x)=0
=x=2=0
=S x=2

Now, we evaluate the value of /* at critical point x =2 and at the end points of the interval
[0.3]
Therefore,
£(2)=3(2)' -8(2) +12(2)" - 48(2) +25
—48—64+48-96+25
=39
£(0)=3(0)"-8(0)" +12(0)* —48(0)+ 25
=25
£(3)=3(3)" -8(3)" +12(3)" - 48(3) + 25
=243-216+108—-144+ 25
=16
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Hence, we can conclude that the absolute maximum value of /° on [0’3] is 25 occurring

at x =0 and the absolute minimum value of ./~ at [0>3] 1s =39 occurring at x=2.

Question 8:

At what points in the interval [0.27] does the function sin2x attain its maximum value?

Let f(x): sin 2x

Therefore,
S'(x)=2cos2x

Now,
£/(x)=0
= 2cos2x=0

nm 3 St In

:'\'zx:_a_)_a_
2°2 2 2
w 3z 5Sn In
Sx=——,—,—
4 4 4 4
P 3r 5z TIm
Now, we evaluate the value of / at critical point = 4”4’ 4~ 4 and at the end points of
the interval [0:27].
Therefore,
Y ..=®
— |=sin—=1
7(2]-sin
3 .13
f ) [ L
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T
0,271'] x:Z

Hence, we can conclude that the absolute maximum value of /* on [ is occurring at

St

xX=—
and 4 .
Question 9:

What is the maximum value of the function sinx +cosx ?

Let f(x) =sinx+cosx
Therefore,

S'(x)=cosx—sinx

Now,
f'(x)=0
= cosx—sinx=0
= sinx=cosx
—tanx =1

T Sm
=S xXx=—,—...
4 4
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Hence,
J"(x)=-sinx—cosx

=—(sinx+cosx)

Now, /' "(%) will be negative when (sinx+cosx) jg positive i.e., when sinx and cosx are both

positive.

Also, we know that sinx and cosx both are positive in the first quadrant.

" xe [O, ]
Then, /" (%) will be negative when 2).

=eifd

T
. . : x== . .
By second derivative test, / will be the maximum at = 4 and the maximum value of / is

b1 . T 3
— |=sin—+cos—
f[‘i] 4 4

W —

1
V2

5l -

Question 10:

Find the maximum value of 2x* —24x+107 in the interval [1’3]. Find the maximum value of

the same function in [_3’_1] )

Let J (x)=2x"—24x+107
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Therefore,
S'(x)=6x"-24
=6(x—4)

Now,
f'(x)=0
=6(x’-4)=0
=>x =4
=x=42
We first consider the interval [1.3] .

Then, we evaluate the value of / at the critical point =2 € [1.3]

1,3].

and at the end points of the

interval [

Hence,
f(2)=2(2)" -24(2)+107

=16—-48+107
=75

f(1)=2(1) —24(1)+107
=2-24+107
=85

£(3)=2(3) -24(3)+107
=54-72+107
-89

Thus, the absolute maximum value of / (%) in the interval [1.3] 1s 89 occurring at x =3.

Next, we first consider the interval [_3 ’ _1] .

tx=—2e[—3,

Then, we evaluate the value of / at the critical poin ~1] and at the end points of

the interval [_3 > _1] )

Hence,
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£(-3)=2(-3)" -24(-3)+107
=-54+472+107
=125

F(=1)=2(=1) —24(-1)+107
=-2+24+107
=129

f(=2)=2(-2)" -24(-2)+107
=—16+48+107
=139

Hence, the absolute maximum value of / (%) in the interval [_3’ _1] is 139 occurring at x = -2

Question 11:
It is given that at x=1, the function x*-62x*+ax+9 attains its maximum value, on the

interval [0’2] . Find the value of a.

Let f(x)z x* —62x* +ax+9

Therefore,
S'(x)=4x’-124x+a

It is given that function / attains its maximum value on the interval [0.2] at x=1.
Hence,

f'(1)=0
=4x’—124x+a=0
=4-124+a=0
=-120+a=0
=a=120

Thus, the value of a=120.

Question 12:

Find the maximum and minimum values of x+sin2x on [O> 2 ]
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Let J(x)=x+sin2x

Therefore,
S'(x)=1+2cos2x

Now,
/'(x)=0
=1+2cos2x=0

T i1 2r
= C0S2X=—=—C0S—=C0S| T —— | =COS—
2 3 3 3

:>2x=2mri2—ﬂ- [neZ]
:>x:mri% [neZ]
oD x= 52—4—?:5—”6 [O,ZTf]

3 3 33

2r 4m 5w

T
373737 3 and at the end points of

Then, we evaluate the value of / at critical points

the interval [O> 2 ] .

Hence,

_z V3

3.2
) (o)

_2n 3

- 2
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f(0)=0+sin0
=0
f(27) =27 +sin4n
=27+0
=2z

Hence, we can conclude that the absolute maximum value of S (%) in the interval [072”] is

27 occurring at x =27 and the absolute minimum value of £(x) in the interval [0:27] is 0
occurring at x=0.

Question 13:
Find two numbers whose sum is 24 and whose product is as large as possible.

Let one number be x.

Then, the other number be (24-x)

Let P(*) denote the product of the two numbers.
Thus, we have:

P(x)=x(24-x)
=24x —x*
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Therefore,

Now,
2§} =10
=24-2x=0
=24=2x

=x=12

Also,
P'(12)=-2<0

By second derivative test, x =12 is the point of local maxima of £ .
24-12)=12

Thus, the numbers are 12 and (

Hence, the product of the numbers is the maximum when the numbers are 12 each.

Question 14:

Find two positive numbers x and ¥ such that x+» =60 and ¥ is maximum.

The two numbers are x and » such that x+y =60

Therefore,
=y=60—x
Let, /(¥)=%"
f(x)=x(60-x)’
Therefore,

I'(x)= (60—x)] —3x(60—x)2
=(60-x)"[60~-x-3x]
= (60—x) (60 -4x)
S"(x)=-2(60-x)(60-4x)-4(60-x)’
=-2(60-x)[60-4x+2(60-x)]
= -2(60-x)(180 - 6x)
=-12(60-x)(30-x)
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Now,

S'(x)=0
=xy=60o0rx=15
When, x =60
Then,
/(x)=0
When, x=15
Then,

S"(x)=-12(60-15)(30-15)
=-12x45x15<0

By second derivative test, x=15 is a point of local maxima of / .

Thus, function ¥’ is maximum when x =15 and ¥ =60-15=45

Hence, the required numbers are 15 and 45.

Question 15:

Find two positive numbers x and ¥ such that their sum is 35 and the product X’y s a
maximum.

Let one number be x.
Then, the other number is ¥ = (35-x),
Let P(x)=x"’

Then we have, P(x)=x* (35‘3‘)5

Therefore,
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P'(x)=2x(35-x) —5x7(35-x)'
=x(35-x)'[2(35-x)-5x]
= x(35-x)" (70-7x)
=7x(35-x)" (10-x)

P*(x)=7(35-x)" (10~ x)+ 7x| -(35-x)" ~4(35-x) (10-x)
y

(
= ( )( = )=Ta( 35— x) ~28%(35- .x) (10-x)
=7(35-x) [ (35—x)(10—x) - x(35 - x) -4x(10-x) |
=7(35—x)'[350 - 45x + x* = 35x+ x* — 40x + 4|
=7(35-x)’ (6x* ~120x+350)
Now,
P(x)=0
=x=0,x=35.x=10
When, x =35
Then,

P’(x) = P(x) =0

= y=35-35=0
This will make the product X'y’ equal to 0.

When, x=0
Then,
= y=35-0=35

This will make the product X'y’ equal to 0.

Hence, x=0 and x=35 cannot be the possible values of x.

When, x=10
Then,

P’ (x)=7(35-10)’ (6x100—120x10+350)
=7(25) (-250) <0
By second derivative test, ©° (*) will be the maximum when x=10 and ¥=35-10=25

Hence, the required numbers are 10 and 25.
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Question 16:
Find two positive numbers whose sum is 16 and the sum of whose cubes is minimum.

Let one number be x.

Then, the other number be (16—x).

Let the sum of the cubes of these numbers be denoted by S(x),

Then,
S(Jr)=x"‘-i-(lﬁ—x)3
Therefore,
§'(x)=3x*-3(16-x)’
S"(x)=6x+6(16—x)
Now,
S'(x)=0
=3x*-3(16-x) =0
=x’—(16-x) =0
= x°—256—x*+32x=0
256
= X=—
32
=x=8
Also,

S"(8)=6(8)+6(16-8)
=48 +48
=96>0

By second derivative test, x =8 is the point of local minima of §'.

Thus, the numbers are 8 and (16-8) =8
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Hence, the sum of the cubes of the numbers is the minimum when the numbers are 8 each.

Question 17:

A square piece of tin of side 18cm is to be made into a box without top, by cutting a square
from each corner and folding up the flaps to form the box. What should be the side of the
square to be cut off so that the volume of the box is the maximum possible?

Let the side of the square to be cut off be x cm.

Then, the length and the breadth of the box will be (18—=2x)em each and the height of the box
be x cm.

Therefore, the volume ¥ (%) of the box is given by,
V(x)=x(18-2x)"

Hence,

V' (x)=(18-2x)" —4x(18—2x)
= (]8—2x)[18— 21—4x]
=(18-2x)(18-6x)
=6x 2(9—x)(3—x)
=12(9-x)(3-x)

V' (x)=12(-9-x)(3—x)
=-12(9-x+3-x)
=—12(12—-2x)
=-24(6-x)

Now,
V’(x) =0

=Sx=9%%=3

If, x=9 then the length and the breadth will become 0.
Hence, x#9
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When, x=3
Then,
V" (3)=-24(6-3)
=-72<0

By second derivative test, x =3 is the point of local maxima of V.

Hence, if we remove a square of side 3cm from each corner of the square tin and make a box
from the remaining sheet, then the volume of the box obtained is the largest possible.

Question 18:

A rectangular sheet of tin 45¢m by 24cm is to be made into a box without top, by cutting off
square from each corner and folding up the flaps. What should be the side of the square to be
cut off so that the volume of the box is the maximum possible?

Let the side of the square to be cut off be x cm.
Then, the height of the box is x cm, the length is (45-2x)em and the breadth is (24—2x)cm

Therefore, the volume ¥ (%) of the box is given by,

V(x) = ,r[45—2x){24— Zx)
= x(1080—90x —48x + 4x” )
=4x’ —138x” +1080x

Hence,

V'(x)=12x" —276x+1080
=12(x* -23x+90)
=12(x-18)(x-5)

V"(x)=24x-276
=12(2x-23)

Now,
V'(x)=0

= x=18x=5

It is not possible to cut off a square of side 18cm from each corner of the rectangular sheet.
Thus, x cannot be equal to 18.
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When, x=5

Then,

V' (5)=12(2(5)-23)
=12(10-23)
=12(-13)
=—156<0

By second derivative test, x =5 is the point of local maxima.

Hence, the side of the square to be cut off to make the volume of the box maximum possible
1S Scm.

Question 19:

Show that of all the rectangles inscribed in a given fixed circle, the square has the maximum
area.

Let a rectangle of length / and breadth 5 be inscribed in the given circle of radius a.

Then, the diagonal passes through the centre and is of length 2a cm .

i

|

Now, by applying the Pythagoras theorem, we have:
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(2a)' =P +b
= b’ =4a’ -1’

=b=A4a’-I

Area of triangle, A =1[\4a* -1

Therefore,
= \f______i_—+l (-21)
2J42—
_ da* -21*
Vaa® -1
’ M(—M)—@a’- —212)._(_23) _
d A = 2 4a2 _t;z
dl* da® ]2
(4a® ~17)(-41) +1(4a* - I*)
(4a> -1 )z
_—12a%1+2P
s
(4a” -1 )2
~21(6a* 1)
T AN
(40 -2 )2
Now,
W,
dl
Hence,
= 4a* -2I* o
Vaa* -I*
= 4(12 — 2,’2
=1=\2a

Thus,
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When, [ =+/2a
Then,

24 2(N2a)(6a” -24°)
ar 2V24°

_ —8v24°

_ZJif

=—4 <0

By the second derivative test, when /= \2a, then the area of the rectangle is the maximum.

Since, [ =b=+/2a the rectangle is a square.

Hence, it has been proved that of all the rectangles inscribed in the given fixed circle, the
square has the maximum area.

Question 20:
Show that the right circular cylinder of given surface and maximum volume is such that is
heights is equal to the diameter of the base.

Let 7 and & be the radius and height of the cylinder respectively.

Then, the surface area (5) of the cylinder is given by,

S =2nr’+2nrh

Therefore,
_S-2x r

2rr
*
:i[lJ_f.
2r\r

Let I be the volume of the cylinder.

h

Then,
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= 5 nr
2
L
dr 2
v
4 —=-61r
dr”
Now,
dv
=" =0
dr
=5 8 3zr’ =0
2
= i =371
2
5 o
=¥
61
iS5
When, 67
Then,
y
¢ - =—6rx D <0
dr 6
oS
By second derivative test, the volume is the maximum when 67 .

S
Now, when 67 ,

Then,
. 6rr’ (]]r
2r \r
=3r—r
=2

Hence, the volume is the maximum when the height is twice the radius i.e., when the height is
equal to the diameter.
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Question 21:
Of all the closed cylindrical cans (right circular), of a given volume of 100 cubic centimeters,
find the dimensions of the can which has the minimum surface area?

Let 7 and / be the radius and height of the cylinder respectively.

Then, volume (V) of the cylinder is given by,

V=nrr’h=100
.
Trt

Surface area (5) is given by:
S=2nr*+2nrh
200

¥

=2ar*+

Hence,

ds 200
—=4rr—-—5-
dr r

dr r

el

Now,

2
When, T

Then,
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By second derivative test, the surface area is the minimum when the radius of the cylinder is

1
=)
— | cm
}T .

(2}
When, T

Then,

2]

Hence, the required dimensions of the can which has the minimum surface area is given by
1

1
=) H
— | em 2l — | cm
radius \ 7 and height \ 7 .

Question 22:

A wire of length 28m is to be cut into two pieces. One of the pieces is to be made into a square
and the other into a circle. What should be the length of the two pieces so that the combined
area of the square and the circle is minimum?

Let a piece of length / be cut from the given wire to make a square.
Then, the other piece of wire to be made into a circle is of length (28—1)m
l

Now, side of square is 4

Let 7 be the radius of the circle.

Then,
2nr=28-1
= r=—(28-1)
T

The combined areas of the square and the circle, (4) is given by,
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A= (_Side of the square )2 +ar’

F |
- (28
16+?{2}r( )}

2 1

=2 g g Ty
16+4:n:( )
Hence,
dA 21 2
. — (98 I
216 2
| 1
=———(28-1
8 29r( )
d_f,4=l+i>0
d- 8 2=«
Now,
d>
[ 1
———(28-1)=0
5 (28=1)
ﬂn!—4(28—!)=0
8n
=(m+4)1-112=0
=112
T+4
;112
When, 7+4
Then,
d‘A>0
dr

112
o . . [=
By second derivative test, the area (4) is the minimum when T+4

Hence, the combined area is the minimum when the length of the wire in making the square is

112 (28 112)_28:1”1
m - =
w+4  while the length of the wire in making the circle is \ m+4

w+4
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Question 23:
8

Prove that the volume of the largest cone that can be inscribed in a sphere of radius R is 27 of
the volume of the sphere.

Let 7 and % be the radius and height of the cone respectively inscribed in a sphere of radius R.

Let V' be the volume of the cone.

1,
V==nrh
Then, 3

Height of the cone is given by,
h=R+ AB

=R4++R*-¥? [ABC is a right triangle]

Hence,
V=]§::Tr2(R+\fR2 “rz)

:l:"crlRJrl::'v:r3 R*=#°
3 3

Therefore,
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ﬂ = —%;rr}{ +%:ﬂ:rm_%mﬁ_ﬂ

dr : 2 R -7
) 3
ZER'."R+:?TF\I'R2 -t —1?2',!7
3 3 3 R2 _rE
2zr(R =1 )—xr’
=2::rR+ ( - )a
3 3\/R“ -7
P2 _ A3
=2?rrR+2mR .Jfl;.i‘
3 VR —#*

2 4 . ., i, P
v 2 . 3VR: 12 (Z?TR" —9;{1")—(23‘{;’[&" ~—3Jrr3).6—(~_R2 }_)!—q

ar’ _EE N Q(Rz_"z)
9(R2 _"1)(2?1'1?3 —-9?:*‘2)4-2?1'!'1}?24-3?“"1

=g?rR+ -

? 27(R*-r*)?
Now,

av

=

= %:wR " 2R =37r’

3 3R —p?
- %?m’\’ _3nr’ -2arR’
3 VR —r?
£ _1) 2
=2R= L : "R“
R —r
— 2RVR? —p* =3pF 22 R?
= 4R (R ~1?)=(3r* -2 )
= AR — 4R =9 + 4R — 1217 R?
= 9p* =8R*

Sp=Sp

0

=0

By second derivative test, the volume of the cone is the maximum when

rz :§R2

When, 9
Then,
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Therefore,

7-5(5¢)3%)
3 19 3
=£(4.?TR3]
27\3

8
S (Volume of sphere)

8

Hence, the volume of the largest cone that can be inscribed in the sphere is 27 the volume of
the sphere.

Question 24:
Show that the right circular cone of least curved surface and given volume has an altitude equal

to v/2 time the radius of the base.

Let 7 and / be the radius and height of the cone, respectively.
Then, the volume (V) of the cone is given by,
v=Lam
3

R4

> h=—5
r

The surface area (5) of the cone is given by,
S =nrl, where [ is the slant height

Hence,
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S=rrir+h’

, O

=T, +

}rlrﬁ
T+ 91’

Tre

1 N4+ o)

IS

Therefore,
2.5
. & K L it 912
as _ aymrt+9p?
dr ¥
3’ —n’rt-9y?
r? \/:r ol
B 27 —9)?
PNt +91?
Now,
d
LA
dr
2771 -9V

N i A
AT+ 9V

= 2728 =92

s O’
=Fr = —
2r
| . =2 2250
Thus, it can be easily verified that when 2r°  dr
6 = 9y
By second derivative test, the surface area of the cone is the least when 27
o
When, 2n”
Then,
-
T
!
2.6 2
_¥ [m r 2}
wrl. 9
_ 3 2nr
nrt 3
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Hence, for a given volume, the right circular cone of the least curved surface has an altitude

equal to V2 times the radius of the base.

Question 25:
Show that the semi-vertical angle of the cone of the maximum volume and of given slant height

is tan™ J2 )
Let 6 be the semi-vertical angle of the cone.

) 0e [O,K]
It is clear that 2.

Let 7" and ! be the radius, height, and the slant height of the cone respectively.

The slant height of the cone is given as constant.

fi

Now, =/sin0 and h=I1cos0

The volume (¥) of the cone is given by,

V= lm‘gh
3

:%E(F sinz())(f cos0)

= % 7l” sin” @ cosB

Therefore,
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3
% = %[sinz 6 (—sin@)+cos6 (2sin O cosQ)}

= %[—sin"’ 0 +2sin0 cos’0 |
4y _m
do* 3
=%[2c0339—7sin26 cos@]

[—~3sin28 cos +2cos’0 —4sin*6 COSGJ
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Now,

a_,

do

= L [—sin] 8 +2sinb 005391 =0
3

= sin’ 0 =2sin6 cos’0
=tan’0 =2

= tan6 =~/2

=0 =tan"' V2

When, 0 =tan™' /2
Then, tan’0 =2 or sin’@ =2cos’6 .

Hence, we have:

2 3
4 V :ﬁ[zcos%’ —1400539]
do- 3

nl’ s
= T[—]Zcos 8]

=47l cos’0<0 V Oe [0. ﬂ

By second derivative test, the volume (V) is the maximum when 6 =tan "' v/2 .

Hence, for a given slant height, the semi-vertical angle of the cone of the maximum volume

is tan ' V2.

Question 26:
Show that semi-vertical angle of right circular cone of given surface area and maximum

. Sin"[lj
volume is 3.

Let 7 be the radius, / be the slant height and # be the height of the cone of given surface area
S.

Also, let o be the semi-vertical angle of the cone.
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0L
!
]
-
P E—
Then,
S=rnrl+mr
S—nr?
=] = w1
Tr ( )
Let ¥ be the volume of the cone.
Then
V:larrzh
3
2 I 2472
Vi==mrh
9
zln‘f4(13—}2) [ ]3:},:+h2]
:lﬂ:zr_i [S—?Tf“] _ ‘?]
TF
1 . S —7r’ 2—n2r4
=—7 % ( L
9 T
|y
=—p S -287p
ik )
il l k) s ] a
Ve =—8r (S -2nr: .
S5 (5 -2r°) )

Differentiating (2) with respect to 7, we get

2Vﬂ:lS(2Sr—8ﬂr3)
dr 9

¥

v
For maximum or minimum, put dr
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1 wiwe 3
=>§b(2;5r~8:rr ):0

=28+ —8nr* =0 [ S # 0]
— S =Axr? [ r=0]
2 S
=>ri=—
47

Differentiating again with respect to 7, we get

2 2
wil o & =1S(2S—24m2)
dr” dr 9

2 & o
Sw Y _L(as-24nx> & omd =2
r 47 dr A
2
sl —%S(ZS—&S‘)
il Lo oo
dr” 9

Thus, ¥ is maximum when S =477".

Therefore,
S=nrl+nr’
= 4xr? = vl + it
= 3nr* =arl
=[=3r
Now, in ACOB,
. OB
sinq =—
BC
S
[
o |
3r 3

. _,[1]
o = S1n —
3

Question 27:

The point on the curve x” =2y which is nearest to the point (0,5) is

(A) (2\5’4) (B) (2\5’0) © (0,0) (D) (2,2)
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The given curve is *° =2y

For each value of x, the position of the point will be [

2

X

)
Let 2 ) and 4(0.5) are the given points.

Now distance between the points P and A is given by,

= PAm\/(xm(])z {%2_5]2

2 2
zPAI:(x~0)2+[%—5]

4
:>PA1:,\*2+%+25—5X2

)
:>PA2~%—4x2+25

= P4 =" -8y+25 (v x*=2y)
Let us denote P4” by Z

Then, Z =y’ —8y+25

Differentiating both sides with respect to ¥, we get
4z _ 2y—8
dy

For maxima or minima, we have
dZ
Ty 2
—2y-8=0

0

=2y=8§
=>y=4

Also,

Now,
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2
[d f} =2>0
dy y=4

—SxF =2y
= xt=2x4
—x*=8

= x=122

2\/5’4) or (_2‘5’4).

So, Z is minimum at (

2\/5’4) or (_2‘5’4).

Or, PA® is minimum at (

2\5’4) or (_2‘5’4).

Or, PA is minimum at (

2

X

Pl x,—
So, distance between the points [ 2 ] and 4(0-5) is minimum at (2\/5’4) or (_2‘5’4].

Thus, the correct option is A.

Question 28:
1-x+x*

For all real values of x, the minimum value of 1+x+x” is

W | —

(A) 0 B) 1 ©)3 (D)

1-x+x°

Let /(%)

1+ x+x°

Therefore,
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(l +x+x2)(—l +2x)—(] —x+x2)(l +2x)

F)= (1+x+,\rz)2
=14 2x—x+2x7 x4+ 2x° =1 - 2x+ x +2x° —x* —2x°
B (l+x+xz)2
3 2x%- 0
_(1+x+x3)2
2(x*-1)
) (l+x+xz)2
Now,
f'(x)=0
= x’ =1
= x=x=l
Also,
2[(1+x+x2)2(2x)—(x1—1)(2)(1+x+x1)(1+2x)}
f"(x)= ~
(1+x+x‘)
4(1+x+x3)[(]+x+r3)x—(x3—1)(1+2x)]
(1+:»c+x2)4
4 x+x? 6 %20 +142x |
(1% +x)
414 3x-x7)
(l+x+x3)3
Hence,
vy 4(]+3—l)
)= (1+1+1)

Also,
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=—4<0

By second derivative test, / is the minimum at x =1 and the minimum value is given by,

P L

14141

Thus, the correct option is D.

Question 29:

1
The maximum value of [I(x_ 1)+ 1]3 O0<x <t o

1y 1
(A) [J (B) 2 ©) ! (D) 0

Let f(x):[x(x—])+]}%

Therefore,
. 2x =l
f'(x)= :
3[x(x— l)-l— l]-‘
Now,
f'(x)=0
1
= x=—
2

1
... . X== : :
Then, we evaluate the value of / at critical point 2 and at the end points of the interval

[0’1] le,at x=0 and x=1.
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f(O)=[O(O—1]+I]-‘l‘

=1

f(')i[l(l—l)ﬂ}g
]
"

Hence, we can conclude that the maximum value of ./ in the interval [0’1] s 1.

Thus, the correct option is C.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

MISCELLANEOUS EXERCISE

Question 1:
Using differentials, find the approximate value of each of the following.

o (&)

(ii) (33)_%‘

(i) (gj

!
Consider ¥ =(x)*

)c:E Ax !
Let 81 and 81

Then,

Now, 4y is approximately equal to Ay and is given by,
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Hence,

[QJ‘ +0.010

2
81) 3
= 0.667+0.010
= 0.677

1
5)4 =0.677

Thus, the approximate value of [81
ok
iy (33)°

Consider ¥ =("‘)

5

Let x=32 and Ax=1

Then,
1 1

Ay=(x+Ax)5 —(x)s
(33)5-(32)°%
:(33)% _%

1
SHAp=(33)

Il

Now, v is approximately equal to Av and is given by,


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

320
=—0.003

Hence,
1
(33)5 = % +(~0.003)

=0.5-0.003
=0.497

Al
Thus, the approximate value of (33) 5 =0.497

Question 2:
s (x) _ logx
Show that the function given by ° x has maximum at x=e.
s (x) _ log x
The given function is X
Therefore,
)
x| —|-logx
. X
f(x)=—"5—
X
_1-logx
=
Now,
/'(x)=0
= 1-logx=0

=logx=1
= logx=loge
= Xx=¢

Also,
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f"(x)=xz[_lj'“;")gx)(z.r)

x

—x—2x(l—]ogx)
x4

-3+2logx

Il

¥

Now,

= —34+2loge
f(e): 3 £
&
-3+2
(’3
=;3<0
2

Therefore, by second derivative test, / is the maximum at x=e.

Question 3:
The two equal sides of an isosceles triangle with fixed base » are decreasing at the rate of 3
cm per second. How fast is the area decreasing when the two equal sides are equal to the base?

Let A4BC be isosceles where BC is the base of fixed length &.

Also, let the length of the two equal sides of A4BC be a.
Draw AD L BC.

o

pafm
|

P

Now, in AADC , by applying the Pythagoras theorem, we have:

AD = ’a?'—b—_
4

Area of triangle,
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The rate of change of the area with respect to time (¢) is given by,

ﬁ_ib _2a  da
d 2 | 2 dt
2 az-b—
4
ab da

ad b di

It is given that the two equal sides of the triangle are decreasing at the rate of 3cm per second.
Therefore,

ﬁ ==3em/s
dt
Hence,
dA -3ab
dt 4a® - b’

When, a=b we have:
dA -3h°

dt J1g b

=l

Hence, if the two equal sides are equal to the base, then the area of the triangle is decreasing
at the rate of —/3bem’ /5.

Question 4:

Find the equation of the normal to curve ¥' =4x at the point (1L2),

The equation of the given curve is Vi =dx

Differentiating with respect to x, we have:
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2y£=4
dy 4
dx 2y
dy 2
dxi;
::»Q} —zzl
dx ]z 2

Now, the slope of the normal at point (1.2) is
-1 __] "

f_il_)} !
dx Ji 5

Equation of the normal at (1.2) is
= y=—2==x+1

=x+y—3=0

Question 5:

Show that the normal at any point 0 to the curve x =acos@ +afsin@, y=asind—ab coso is at
a constant distance from the origin.

We have x =acos@+alf sin@
Therefore,

ﬁz—asin9+asin9+a90059
do

=af cosf

Also, ¥ =asin@ —af cosf

Hence,
dy
——=gcosf —acosf +ab cosO
do
=af cosh
Thus,
dy dy do
dx dO dx
_afsinf
" a6 cosH

=tanf
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-1
Slope of the normal at any point 0 is tan@ .

The equation of the normal at a given point (%) is given by,
-1
tan@
= ysin0 —asin’ 0+ af sin0 cosH = —xcosO +acos’ O +ab sinO cos

y—asinf +af cosd = (x—acosf —absinb)

= xcosf + ysinf —a(_sin2 6 + cos” 8) =0

= xc0s@ + ysin@—a=0

Now, the perpendicular distance of the normal from the origin is

|-l

= =|—q
Jeos’@+sin’ V1 | ‘, which is independent of 6

Hence, the perpendicular distance of the normal from the origin is constant.

Question 6:

ooy 4sinx—2x—xcosx
Find the intervals in which the function / given by /(%)= 2+Cosx is
(i)  Increasing
(i) Decreasing

( ) 48inx—2x—XxXCOSX
x —

We have 24cosx
Hence,

£(x)=!

2+cosx)(4cosx~2——cosx+xsinx)—(43inx-2x~xcosx)(wsinx)

(2-!—005.35)2

- 2 3 . -2 - -
6cosx—4+2xsinx+3cos x—2cosx+xsinxcosx+4sin” x—2xsinx— xsin XcosXx

(2+cosx)2
_4cosx—4+3cos” x+4sin’ x
(2+COS)C)2
_4cosx—4+3cos” x+4—4cos’ x

(2 +CO8 x):

2
_4cosx—cos x

(2 +cos x)2
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cos x(4 - cosx)

f(x)=

(2+ cosx)2

Now,
£(x)=0

—=cosx=0o0r cosx=4
But cosx # 4

Hence,
cosx=0

N|§§’

= X=

S

T 3 [ ;rrJ [;r 37
X=— X=— £} = o
Now, 2 and 2 divide (0:27)into three disjoint intervals i.e., 24,027 2

(05) na (577
Inintervals, \ 2/ and \ 2’ ,f'(x)ﬂ]

x 3x
: .. ) O<x<— —<x<2n
Thus, / (x) is increasing for 2 and :

5%)
In the interval \ 2~ 2 J, f"(x)<0

Thus, / (x) is decreasing for 2 *e .

Question 7:
1
) = ? +—,X# 0 .
Find the intervals in which the function ./ given by S (x)=x =t is
(i) Increasing
(i) Decreasing

=x3+—,

We have J (x) x
Therefore,

] and
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3

' :3 X =
f(x)=3¢ -
3x° -3

Now,

f'(x)=0

=3x*-3=0

=xf =1

= x==*l1

Now, the points x=1 and x =-1 divide the real line into three disjoint intervals i.e., (o0, - l),
(-11) and (L®).

In intervals (—%~1) and (L) i.e., when x<-1 and x>1, f'(x)>0

Thus, when x<-1 and x>1, f is increasing.

In interval (—1.1) i.e., when —-1<x<I, f'(x)<0,

Thus, when —1<x<1, / is decreasing.

Question 8:

2 2

X

Find the maximum area of an isosceles triangle inscribed in the ellipse a* 5’ with its
vertex at one end of the major axis.
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¥ P

. i

The given ellipse is >  b*

Let the major axis be along the x-axis.

Let ABC be the triangle inscribed in the ellipse where vertex C is at (a.0),

Since the ellipse is symmetrical with respect to the x-axis and y-axis, we can assume the

coordinates of A to be (—x. 1) and the coordinates of B to be (=, ,—y.)

JE ib\/?

Now, we have

a
et )
Coordinates of A are and

;vc],—éﬂ'a3 —xf]

the coordinates of B are [ a

As the point (%1:31) lies on the ellipse, the area of triangle ABC (4) is given by,
Do [25\/a —-x ) +(- x)( \/a — X ] —x])[—é\/az—x,;"]
a a
=ba’ -x’ +J«cl£ﬂ'afz—x|2 ceik 1)
a

2

Therefore,
A 2xb b a2t
dx,  2[a*-x} @ - 2a\Ja’ - x
b 2 2
:ﬁ[—x,a+(a2-x,“)nxl“]
b(-2x} -xa+d’)
- a\/az—xll
A _o
Now, dx,

Hence,
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But & #—a
Therefore,

Now,

Also, when,
Then,

=-2x'-xa+a’ =0

~ azt.la’ ~4(-2)(a2)

IS
a+~9a’
=53 =
—4
at3a
=% =
-4
a
= X, =—a,—
2
a
xl:E
b 2
s
ba
=—x/3
2a\/—
b
)
> > 2 N (—le)
a” —x" (4x,—a)—\2x" —xa+a | ————
g o[V )
dx’ a a*
b (a2 —xlz)(-éix] —a)+x, (—-fo —-xla+a2)
= —4 2
“ (=)
_b |2 =3Pp=0’
_a
2
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2 a’ 5" 4 -
d*A b 8 2
dxﬁ a [ e 2 ;
a’—
5)
a 3 3
3
a 3a* )
4
9 5
b a
=-21 4 1 <0
a 3a% \2
4

a

. . X,
Thus, the area is the maximum when ' 2 .
Hence, Maximum area of the triangle is given by,

2 2
A=b az—a++[£)£ -2
V¢ "4 T\ 2)a 4

NES [a)b a3
=gh—+| — |—x——

2 \(2J)a 2
_wa§+ahﬁ
2 4
=£ab

4

Question 9:
A tank with rectangular base and rectangular sides, open at the top is to be constructed so that

its depth is 2m and volume is 8. If building of tank costs X 70 per sq. meters for the base
and X 45 per square metres for sides. What is the cost of least expensive tank?

Let /, b and & represent the length, breadth, and height of the tank respectively.

Then, we have height, #=2m and volume of the tank, ¥ =8n’

Volume of the tank
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V =Ibh
= 8 =Ixbx2
= Ih=4

4

=b=—
)

Now, area of the base, /b =4

Area of the 4 walls,
A=2h(1+b)

gt

Hence,
oo
dl I’
Now,
_
dl
== (Z —i,) =0
l-d
=[*=4
=[=+2

However, the length cannot be negative.

Therefore, we have /=4

Hence,
p=2
[
_4
2
=2
Now,
d’4_32
d? P
When, /=2

Then,
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d’*4 :Q
dr’ 8
=4>0

Thus, by second derivative test, the area is the minimum when /=2
Wehave I=b=h=2
Therefore,
Cost of building the base in X is
70x(1b)=70(4)
=280
Cost of building the walls in X is

2h(1+b)x45=2x2(2+2)%x45
=720

Required total cost is X is
280+720 =1000

Thus, the total cost of the tank will be X 1000.

Question 10:

The sum of the perimeter of a circle and square is k£ , where k is some constant. Prove that the
sum of their areas is least when the side of square is double the radius of the circle.

Let 7 be the radius of the circle and a be the side of the square.

Then, we have:
2nr+4a=1k

_k—-2gr

T4

=da

The sum of the areas of the circle and the square (4) is given by,
A=nr*+4d°

Care (k—-27r)
16

Hence,
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ad_, 2(k-2zr)(-2n)
dr 16

Now,

oy Bk=21r)

s B ﬂ(k—Zm*)
=8r=k-27r
= (8+2n)r=k
oKk

)

(8+2:n:

ok
T 2(4+7)

=r

When, 2(4+m)
Then,

_k(4+m)-mk
~ 4(4+7)
"

- 4(4+m)

_k
4+m
2r
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Hence, it has been proved that the sum of their areas is least when the side of the square is
double the radius of the circle.

Question 11:
A window is in the form of rectangle surmounted by a semicircular opening. The total

perimeter of the window is 10m. Find the dimensions of the window to admit maximum light
through the whole opening.

Let x and ¥ be the length and breadth of the rectangular window.
*
Radius of the semicircular opening be 2

It is given that the perimeter of the window is 10m.

Therefore,

x+2y+?=|()

:x[l+%]+2y=10

:>2y=10—x[1+%]

1 x
:yZS_X[E+Z]

Area of the window (4) is given by,

A:WE[E]
To2\2

Therefore,
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dx” 2) 4
-
4
Now,
d_
dx
:>5—x(l+£j+£x=0
2
=5-x-Zx=0
4
:>x[l+ﬂj=5
4
5
=i
n
p+3)
20
=HX=
T+4
20
x=
When, T+4
2
d 1:1 <0
Then, dx°
20 "
Therefore, by second derivative test, the area is the maximum when length is 7 +4
Now,
_<_ 20 [2+x]
T+4\ 4
_x 5(2+7)
- T+4
10
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Hence, the required dimensions of the window to admit maximum light is given by length
20 10
m —m
n+4 andbreadth 7 +4 .

Question 12:
A point on the hypotenuse of a triangle is at distance a and b from the sides of the triangle.

2 2

[EE]

Show that the minimum length of the hypotenuse is (

Let AABC be right-angled at B, AB=x, BC=y and £C=0.

Also, let P be a point on the hypotenuse of the triangle such that P is at a distance of @ and &
from the sides AB and BC respectively.

A
g P
¥
|I.,_
é
B C
We have, 4C=+x"+)’
Now,
PC =bcosecd
AP = asecf
Hence,
AC = AP+ PC
AC =b cosec +asecl (1)
Therefore,
d(AC)

=—bh cosecl cot O +asecO tanO
df

Now,
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d(/IC)
do
= —b cosecOcotd +asecOtanf =0

=0

= asecOtanf =b cosecOcotl
a sin@ b cosO

cosO cos® sin@ sinf
= gsin’ 6 = bcos’ 0

| |
= (a)3sinB = (b)3 cosd

= tanf = (ET
a

Thus,

| =

G cos(i':@ v 2)

2
+b°

sin@ =

| ta

2 2
a’*+b* and a:

d*(A4C) _( ]3
Z AT ) tanf =| —
It can be clearly shown that ~ d6* , when a) .

1

3
tanf) =| —
By second derivative test the length of the hypotenuse is the maximum when [ﬂ]
1

b3
tanO = [—]
When, a) ,we have:

2 0 2 2

3 b\/a3 +5° . a\/a~" +b3
- 1 I
(6) (a)

2 2 2 2
=Va3+b3(b3+a3J

N

Thus, the maximum length of the hypotenuses is [

AC

[ Using (1) and (2)]

3
2

22
a’ +b° ]
proved.

Question 13:

3 4 3
Find the points at which the function / given by f(x)=(x=2) (x+1) pas


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

(i) local maxima
(i) local minima
(i)  point of inflexion

. ‘ 3
The given function is ./ (x)=(x- 2) (x+1)

Thereofore,
f(x)=4(x-2) (x+1) +3(x+1)’ (x-2)'
=(x=2) (x+1)’[4(x+1)+3(x-2)]
=(x—2) (x+1) (7x-2)
Now,

2
= =, f'(x)>0
For values of x close to 7 and to the left of 7

2 2
Also, for values of x close to 7 and to the right of T

f"(x)<0.

2

X=—
Thus, 7 1s the point of local maxima.

Now, for values of x close to 2 and to the left of 2,.f ’(x) <0
Also, for values of x close to 2 and to the right of 2,/"(x)>0

Thus, x =2 is the point of local minima.

Now, as the value of x varies through -1, / (%) does not change its sign.

Thus, x =-1 is the point of inflexion.

Question 14:

Find the absolute maximum and minimum values of the function / given by

f(x)=cos’ x+sinx,xe[0,7]
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We have f(l) =cos® x+sinx

Therefore,
f'(x)=2cos x(—sinx)+cosx

=—-28In xCOS X+ COS X

Now,
f(x)=0
= -2sinxcosx+cosx =0
= COsSX=2sinXcosx

= cosx(2sinx—1)=0
: 1
:>smx=§ or cosx=0

:>x=%or v xel0,7]

| A

T

T
. ., . . x b . .
Now, evaluating the value of / at critical points 6 2 and at the end points of the interval

[0,7] i.e.,at x=0 and x=7, we have:

A5)-o (53

£(0) =cos*(0)+sin(0)
=140
=1
f(7)=cos®(m)+sin(x)
=(-1)°+0
~1

A(5)~(5hof2)

=0+1
=1
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5
. . . X
Hence, the absolute maximum value of / is 4 occurring at

T
6 and the absolute minimum

¥
. . x=0,—,7
value of / is 1 occurring at 2

Question 15:

Show that the altitude of the right circular cone of maximum volume that can be inscribed in
4r

a sphere of radius 7 is 3.

A sphere of fixed radius (r) is given.
Let R and % be the radius and the height of the cone respectively.

The volume (V) of the cone is given by

V:lnR%
3

Now, from the right ABCD, we have:
BC=Nr’-F
=S h=r+vr'—R°

Hence,

V=%nR%r+mJ-Rﬂ
= %?IREP‘ +%KR2\|"I‘2 - R?

Therefore,
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d—V—-—zﬁRr+an rE—R2+HRH (_ZR)

dR 3 3 3 ol R
2 2 —— R’
=—aRr+—naRNr—-R ——0—m—

3 3 WNr-R?
27R(¥* - R*)-zR?
=27rRr+ ( = )ﬁ

Wr-R
2 gy R 3R

=—mRr
3 Wr—-R?

Now,
dv

dR?
i 3er;~+ 2nRr* -3n R’ ~0
3 WNr-R?
2zRr  3m R -2z Rr?
3 3P-R
= 2rJr’ - R? =3R*-2r*
= 4r* (r - R*) = (3R -2’
= 4r' —4r*R* =OR* + 4#* —12R%**
=9R*-8r’R* =0
= 9R? =8?

9

=

Also,

_ _ 1
2V 2 NP -R (2m2—9nfe2]—(2nfar2—3;r1e‘)(—61e)2m

R 3 9(#—;32)

~ & ]
Ir2 — R2 (27 #? —9m R2 2aRr? =32R*)(3R)————
:29Tr+‘) ’ (ﬁr i )+( e )( )\”,Z_RZ

3 9(;‘2 —Rz)

= =
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Then, height of the cone

5 8r?
lz=r+1/r -
9
?'2
=r+1,—
9

¢
=r+—

_4r
3

Hence, it can be seen that the altitude of the right circular cone of maximum volume that can
4r
be inscribed in a sphere of radius 3 .

Question 16:

Let / be a function defined on [%?] such that /*(¥)> 0, forall ¥€ (¢.2)  Then prove that f

is an increasing function on (a.b).

Let %i»%:€(a:6) such that % >,

Consider the sub-interval [¥:%:]

Since /(%) is differentiable on (¢:?) and [¥-%.] < (a.5).

Therefore, / (%) is continuous on [%>*:] and differentiable on (%:%:).

By the Lagrange's mean value theorem, there exists € € (%1>%) such that
fo s

Xi=ik,

Since, f'(x)>0 for a1 x€ (a’b), so in particular,
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>0 [Using (I)J

Since, *1-X> are arbitrary points in (a.b),
Therefore, X1 <% = f(x)<f (%) forall X»%,€(ab),

Hence, / (%) s increasing on (a.b).

Question 17:
Show that the height of the cylinder of maximum volume that can be inscribed in a sphere of
2R

radius R is ﬁ . Also find the maximum volume.

A sphere of fixed radius (R) is given.

Let # and % be the radius and the height of the cylinder respectively.

From the given figure, we have & =2VR* -’

The volume (¥) of the cylinder is given by,
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V=nr’h

=2ar’\vR* =1’

Therefore,
V=nrh=2nr’NR —r*
dv 275t (—2;‘)
Ny | RE_p2 42— 7
= r o+ o
=4xprVR* -1 - o
R _ 2
_4nry R*—r* =271’
\/Rz —
_A4nrR’ —6mr’
Now,
av_,
dr
A7 rR* —67r° _0
R —r?
= 47rR* = 6711°
, 2R
=Spt="—
3
Also,
% (—Zr)
v VR —#? (él:'rR2 —l87r;v~2)—(4:frrR2 —67r )2\/!627
dart (R*-r?)
(RQ —rz)(élrrRz —187rr2)+r[47rrR"’ —67?;"“)
— 3
(RP-r)
(4?1'1?“ —2ar*R* +127#* +4?rr2162)
(k-
r? = 2—R2 = v <0
Now, it can be observed that at 3.,  d?
2
2 _2R

Thus, the volume is the maximum when 3
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When, 3

Then, the height of the cylinder is

2 2
N7 LI
3 3
2R

3
2R

Hence, the volume of the cylinder is the maximum when the height of the cylinder is J3.

Question 18:
Show that height of the cylinder of greatest volume which can be inscribed in a right circular

cone of height /# and semi vertical angle o is one-third that of the cone and the greatest volume

4 a3
. . —mh’tan” a
of cylinder is 27

The given right circular cone of fixed height # and semi-vertical angle o can be drawn as:
A

]

Here, a cylinder of radius R and height # is inscribed in the cone.
Then, £LGAO=a, OG=r, OA=h, OE=R and CE =H .
We have, r=htana

Now, since AAOG i1s similar to ACEG , we have:
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40 _CE
oG  EG
h H

= [ EG=0G-OE]
r r—R

= H="(r-R)
r

h

htano
1

tan oy

=>H=

(htana —R)

=H =

(htana — R)

Now, the volume () of the cylinder is given by,
V=nRH
TR’

= ht =l
tanoc( &)

R’
tan o

—nR*h—

Therefore,

&V ey 3T
dR

tan o
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Now,

s
dR
3rR
tan N
3t R’
tan
= 2htana =3R

= 27 Rh— 0

= 2nRh=

= R= 2—ftan o
Also 7

2
&V _, . bR
dR

> =

tan o

2y 2h
d s =2mh— < [—tana)
dR tano {3

=2nh-4nh
= 2nh<0

2h
. . . R=—1tana
By second derivative test, the volume of the cylinder is the greatest when 3

H= : (htana%tana]
tano 3

o htana]
tano 3

Thus, the height of the cylinder is one-third the height of the cone when the volume of the
cylinder is the greatest.

Thus, the maximum volume of the cylinder can be obtained as:

(oo (o)

4 L
=—umh tan" a
27
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Hence, the given result is proved.

Question 19:
A cylindrical tank of radius 10 m is being filled with wheat at the rate of 314 cubic metre per
hour. Then the depth of the wheat is increasing at the rate of

(A) Im/h B) 0.1m/ h ©) L.im/h D) 0.5m/h

Let 7 be the radius of the cylinder.

Then, volume (V) of the cylinder is given by,
V=rrh
= (10)" &
=100z h

Differentiating with respect to time (t) , we have:
dav dh

—=100r —
dt dt

The tank is being filled with wheat at the rate of 314m’ / &

dv
—=314m’/ h
dt

Thus, we have:
100z ﬁ =314
dt

dh 314

dt 100(3.14)
=1

Hence, the depth of wheat is increasing at the rate of lm/h.

Thus, the correct option is A.

Question 20:

The slope of the tangent to the curve x=1>+3t—8, ¥ =2t =2t =5 at the point (2.-1) i
2 6 7 -5

(A) 7 (B) 7 (SN D) 7
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The given curve is x=¢>+3¢—8 and y=2t" —2t-5

Therefore,
dx =2f+3
dt
@ =4¢-2
dt
Hence,
dy
ﬂ _dt _ 4r—2
dx dx 2t+3
dt

The given point is (2.-1)

At x=2, we have:
2 +3t-8=2
= +3t-10=0
=(1—2)(¢+5)=0

=t=2ort=-5

At y=-1 we have:
282 -2t -5=-1

=262 -2t-4=0
=2( -1-2)=0
=(t-2)(t+1)=0
=r=2ort=-1

The common value is t =2

Hence, the slope of the tangent to the given curve at point (2.-1) is
dy| 4 (2)-2
EE}PE_'2(2)+3
=7
T 4+3
6
=3

Thus, the correct option is B.
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Question 21:

The line ¥ =mx+1 is a tangent to the curve ¥* =4x if the value of m is
1
(A) ! (B) 2 (©) 3 (D) 2

The equation of the tangent to the given curve is ¥ =mx +1

Now, substituting ¥ =mx+1 in ¥’ =4x_ we get:
(mx+1)2 =4x
= m’x" +1+2mx—4x=0
= m’x® +(2m-4)x+1=0 wwi(L)

Since a tangent touches the curve at one point, the roots of equation (1) must be equal.

Therefore, we have:
Discriminant =0
= (2m —4)2 —4(??12 )(l) =0
=4m” +16—-16m—4m* =0
=16—-16m=0

=Sapi=1
Hence, the required value of m is 1.

Thus, the correct option is A.

Question 22:

The normal at the point (1.1) on the curve 2y +x>=3 is
(A) x+y=0 (B) x—y=0 (C) x+y+1=0 (D) x—y=1

The equation of the given curve is 2y +x° =3

Differentiating with respect to x, we have:
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The slope of the normal to the given curve at point (L1) is
-1

931]
dx (11)

Hence, the equation of the normal to the given curve at (L1) i given as:

=1

= y-1=1(x-1)
Sep—1=%—1
=x—y=0

Thus, the correct option is B.

Question 23:

The normal to the curve X° =4y passing (1.2) is

A) x+y=3 (B) x—y=3 © x+y=1 (D) x—y=1

The equation of the given curve is x* =4y

Differentiating with respect to x, we have:
2x=4. Q
dx

dy _x

: = —
dx 2
The slope of the normal to the given curve at point (h.k) is
-1 2

I
dx (f,k)
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Hence, the equation of the normal to the given curve at (h.k)

et Bt

is given as:

Now, it is given that the normal passes through the point (1.2)

Therefore, we have:
2

2—k=-=(1-h
2(1-1)
2
:k=2+30_w (1)
Since (%) lies on the curve x* = 4y, we have h* =4k
=k= h—
4

Therefore,

Hence, the equation of the normal is given as:

-2
:by—l:;(x—Q)

= y-—l=—x+2
=x+y=3

Thus, the correct option is A.
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Question 24:

The points on the curve 9»° =X’ where the normal to the curve makes equal intercepts with
the axes are

(4;5} 48 (4,13} (14, 3)
(A) 3 B) "3 © 8 (D) 8

The equation of the given curve is 97" =’

Differentiating with respect to x, we have:

9[2}‘)d—y_=3.\'2

dx
dx 6y

The slope of the normal to the given curve at point (x:11) is

-1 6y

@] %!
dx Raand

The equation of the normal to the curve at (% 01) is

6
Y=H :_lzl(x_xi)

1
= x’y—x’y, =-6xy, +6xy,
= 6xy, + xlzy =6x,y, + xlzy[
5 6xy, -;-xIZy =
6x,y, + %"y,
by Xy
6xy, +x'y, 6xy +x'y
X y
= - =1
x(6+x) »(6+x)
6 %

=1
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It is given that the normal makes equal intercepts with the axes.

Therefore, we have:
A (6+x) »(6+x)

6 X,
_E_K
6 x
= x’ =6y, (1)

9 =x  .(2)

=9y =
, 64
=N _F
8
:'\"J’l:i;

2

4,+°
Hence, the required points are ( 3]

Thus, the correct option is A.


https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions
https://www.cuemath.com/?utm_source=website&utm_medium=pdf&utm_campaign=ncert-solutions

	Button1: 
	Button2: 


